
�

�

�

�

�

�

�

�

�

� � � � � � �

�

�

�

�



� � ���

�
�
�
�
�
�
�
�
�
�
�
�
�
�



� ���

�

�

�

�

�

�

�

�

�



� �

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



� ���

�

��� ���� �	��
��
�	�� �	���� �	�� ����� �����

	�� ��
���� ����� ���	��
�
�
��� ��
���
��� ��

�����
��
�	�
�����	����������
������	��������

�

����	�����	���������� ��!"�	�������������	��������
#������

�

����	�����	��!��
������$���%��&������

	������	�
���������
�������
����������

�

����
��
���'�����!�	�(�����)����������������	��������
�����	����
���

�

�� ��
�� �� �������� 
��'�
�	�� 
��'����
�
���� !�����

���	��� *''!+�� ��� ��������� ���

,�
�&��)�(�
����$-	�����������.�
��
����	���
���
����
������	��/	����

�

��� 0���	��/	��� 
�� !�������� 1
��(	-����� *0!123�4!�+�� 5��� ��	������ �� ����������� 
��

��(�
���5������
������	����	����	�������
����������
������	��������

�

�� 6����
�
�� 
�� 3
(�
��	��� 3���	���� �� 
�� '���������� *633'2471'�$�+��

����	����
���
��!�����

���	����1
��	���
������6��8
����*�!162471'�$�+��'�
�	��


�� '����
�
���� !�����

���	��� *''!2� 471'�$�+�� 1
�������� 
�� 69����� :,����

 ���(��
;� *16, 2471'�$�+�� 0���	��/	��� 
�� ���5����� ��� �������������

*0��2471'�$�+���0���	��/	���
��!��������1
��(	-�����*0!123�4!�+���	������������	�

��	����������
������	��������

�

���'7�5��������������
�
���	���

�

3
����� (����	��� 
�� �(	�
���	� ��� �
<��	��� �������� 5��� 
�� ��(���� ��	��� ��
�	���9	���

��	��5���������	���������
�������	�	������
�����

�



� ��

7������	�����������������
���
��
��	����*!��7&+��/��
��*!�=�+������
��	����*!�=�7&+�
��

���9�������	�������	����
�����9���������
�����	�����
��
���������5�9���������	��	�
�����������	�

�������
����	�������� 	������ *)�'>�+�� ��	�����	����	���
���������
�
�����	���������?���

��� ���	��-5��
��� * +� ��� ��������� ���	�@����	�@���A
���� *$3$!+�� =��

������� 
�� 
��	���� 
�� ���9���� *!��7&+� ��	��� ����
��� ��	�� ���������� ��� ���	���	��� �����
����

*��
����������	�
��+���������-���	��
���	�������
��
������������$=!���	��	�������
��

�����	����� �������

�� ��� �	�������� 
�� ��		����� <��
�� 
�� �����	���� 
�� ���9���� ������ ������

����	��	� * +� �� �
��	��	� * +��

	�����������
���� =�� ������� 
�� /��
�� 
�� ���9���� *!�=�+� ��	��� ������
��� ����� ����
��

���	�������� ��� �	�������� 
�� ����
���� 
�� ���	���	��� �����
���� ���	�(�

�� �� ���
���� 
��

	������� 
�� ����
��� ���	��������� 
�� ����	�9���� * +�� =�� ������� 
��

���
��	���� 
�� ���9���� *!�=�7&+� ��	��� ����
��� ����� ������� ����	
������� ��	�� ���������� ���

���	���	��������
����*��
����������	�
��+���������

������	��������
����		�����<��
��
��

�����	���� 
�� ���9���� ����� ����� ����	��	� * +�� � �� ���	�������


���������	���	������	���	
������	����
���
�������
���
�����	�@��
��	��������	�@����
�	����

7����� �	������� ��	��� 	�����
��� ��� ���
����� 
�� �	��������
��� '>�� *

+�� � ��	���
��

�� B� .������������� 
�� �������� 
�� 	����	� 3')� *

+�� 5��� �������� �� ���
���(��� '>�� ���� ������� )������ *)�'>�+� ��	�� ���


������?����

�

�

�

�

�

�

�

�

�

�



� ��

�
1
������"�	%��������
�
��	�
��*!��7&+�����
��*!�=�+��

���&
��	�
��*!�=�7&+����
�������

�����
�
��&�	��������������������������	�
��������
�*)�'>�+��
�������
������	����"�	��

���
��
��

����	����	���
���	����	������
�
(��	����	�������	�@�����
������&�����*$3$!+�

����������
��� !�����
� 
��	�
�� ������ *!��7&+�"�	�� ���
� �
� �����

�
� ��	����	��� *����	�
���

�

��	�
(��+��

����$=!�
�������	�������
����%��(��
���"��������	���������
(�������
�
��&�

"��� �����	���� �����
(� �	�������� ���
(� ���� �	�
�@��
�� �

� ���%@��
�� ���%� ���	������
�
(�

����
�5����� 	����������&��!�����
����
�� ������*!�=�+�"�	�������&�
�������	�������� ��&�	�� ���

�����
� �����

�
� ��	����� ��	����	��� ���
(� ���� ��	��������	������
�
( ����
�5���� !�����
�

��&
��	�
�� *!�=�7&+� ������ "�	�� ���
� ��� ����	
������ ������ �
� �����

�
� ��	����	���

*����	�
��� �

� �	�
(��+�� ���
(� ���� �	�
�@��
�� ���%� ���	������
�
(� ����
�5���� C���

���	������
������������	����	�������	���	
������	��������	����
��	��

��������	�
��������
���

1
� ������"�	%��'>�� *'��������>���	����������
+� ����
�5���� �	�� 	�����
�� �	���
��
(� ����

������� .�����������
� ��� 3')� *3����	�
�'&����	�
�)���
�
��+� 	�����	��"����� �����)�'>��

����
���(&���	�����
��������
����

�

�

�

�

�

�

�

�

�

�

�

�

�



� ����

�

�������������������������������������������������������������������������������������� ���D�

� D�D@�$=C1>�EF=����������������������������������������������������������������������������������������������������� ���G�

� D�H@�=I�3C1>=����������������������������������������������������������������������������������������������������������� ���G�

� D�G@�=!�610$3!��3�71C)3C=��JK1�=�3�=K171C)3C=��3�!101'1=���������������� ���L�

� � D�G�D@�71C)3C=��3�!10M'1=�*!��7&+������������������������������������������������������������������ ���L�

� � D�G�H@�JK1�=��3�!10M'1=�*!�=H+����������������������������������������������������������������������� ���N�

� � D�G�G@�=K171C)3C=��3�!10M'1=�*!�=K7O+������������������������������������������������������ ���P�

� D�L@�!1!C3$�!�$1')=303C)=$3'Q71'=!����������������������������������������������������� ���P�

� � D�L�D@�17C)=�4EF=������������������������������������������������������������������������������������������ ���P�

� � D�L�H@��)='3!!=��3�6�I)1'�EF=��������������������������������������������������������������� ���R�

�

�

���������������������������������������������������������������������������������������������������������������������������������

�����

��DD���

� H�D@��)='3!!=��3��3�=!1EF=�'>�������������������������������������������������������������������� ��DD�

� � H�D�D@��!�3'C=!�IS!1'=!��=��)='3!!=�'>������������������������������������������� ��DD�

� � H�D�H@�CT'71'�!��=��)='3!!=�'>�������������������������������������������������������������� ��DH�

� � H�D�G@�CT'71'�!��=��)='3!!=�'>���4K101���!��=)��0�!$���������� ��DN�

� � H�D�L@�3')@'>��* +������������������� ��DN�

�

�

���������������������������������������������� ��DU�

� G�D@�17C)=�4EF=���������������������������������������������������������������������������������������������������� ��DU�

� G�H@�01$�3V���3�0Q$17�!����������������������������������������������������������������������������������� ��HW�

� G�G@�=IC37EF=��=!�610$3!�������������������������������������������������������������������������������� ��HD�

� � G�G�D@�71C)3C=��3�!10M'1=�*!��7&+������������������������������������������������������������������ ��HG�

� � G�G�H@�JK1�=��3�!��*!�=K+���������������������������������������������������������������������������������� ��HL�

� � G�G�G@�=K171C)3C=��3�!10M'1=�*!�=�7&+�������������������������������������������������������� ��HN�

� G�L@���01'�EF=��3�6=C=))3!1!C3������������������������������������������������������������������� ��HX�



� � ����

� G�N@��)='3!!=��3�6=C=,)�>�EF=������������������������������������������������������������������ ��HP�

� G�X@�'=))=!Y3!�Z$1���3�!3'��������������������������������������������������������������������������� ��GW�

� � G�X�D�@�'=))=!F=�Z$1���3$�!=04EF=�I[6�������������������������������������������� ��GD�

� � G�X�H�'=))=!F=�!3'��������������������������������������������������������������������������������������� ��GH�

� � � G�X�H�D@�'=))=!F=��=)��0�!$��)13�* +���� ��GL�

� G�P@�'=))=!F=�3$�!=04EF=�\=[�������������������������������������������������������������������� ��GN�

� G�R@�301�!=$3C)1��3��3)610=$3C)1��������������������������������������������������������������� ��LD�

� G�U@�$3�1��!��3�3!�3'C)=$3C)1���3��I!=)EF=��=�176)�@

>3)$30[=���������������������������������������������������������������������������������������������������������������

�

��LD�

� G�DW�]�=4C)�!��7S01!3!�4C101V���!�������������������������������������������������������������� ��LH�

�

�

��������������������������������������������������������� ��LG�

� L�D@�610$3!��3�71C)3C=��3�!10M'1=�*!��7&+������������������������������������������������������ ��LG�

� L�H@�610$3!��3�JK1�=��3�!10M'1=�*!�=�+����������������������������������������������������������� ��NN�

� L�G@�610$3!��3�JK171C)3C=��3�!10M'1=�*!�=K7O+������������������������������������������� ��XN�

�

�

�������������������������������� ��XU�

� )363)^7'1�!�I1I01=,)�61'�!������������������������������������������������������������������������� ��PN�

�

�

���������������������������������������������������������������������������������������������������������������������������� ��PU�

� �73K=!��@�647��$37C=!��3��0�!$���������������������������������������������������������� ��PU�

� � �D@�17C)=�4EF=���������������������������������������������������������������������������������������������� ��PU�

� � �H@�=IC37EF=��3��0�!$���������������������������������������������������������������������������� ��PU�

� �73K=�I@�301�!=$3C)1�������������������������������������������������������������������������������������� ��RD�

� � ID@�17C)=�4EF=���������������������������������������������������������������������������������������������� ��RD�

� � IH@�301�!_$3C)=��������������������������������������������������������������������������������������������� ��RD�

� �73K=�'@�3!�3'C)=!'=�1���3��I!=)EF=��=�176)�>3)$30[=�

*6C1)+���������������������������������������������������������������������������������������������������������������������������

�

��RG�



� ��

� � 'D��17C)=�4EF=����������������������������������������������������������������������������������������������� ��RG�

� � 'H���I!=)EF=����)��1�EF=��3�176)�>3)$30[=����������������������������� ��RL�

� � 'G��$=�=!��3�>1I)�EF=� ���������� ��RN�

� � 'L����01'�EF=����CT'71'��3$�610$3!�1!=0�7C3!��3�JK1�=��3�

!10M'1=������������������������������������������������������������������������������������������������������������������

��RX�

� �73K=��@��3)610=$3C)1����������������������������������������������������������������������������������� ��RU�

� � �D@�17C)=�4EF=���������������������������������������������������������������������������������������������� ��RU�

� � �H@��)17'M�1=��3�647'1=7�$37C=��=�!1!C3$��

�3)610=$TC)1'=����������������������������������������������������������������������������������������������

��RU�

� �73K=�3@�$1')=!'=�1��J�C1'������������������������������������������������������������������������ ��UD�

� � 3D@�17C)=�4EF=����������������������������������������������������������������������������������������������� ��UD�

� � 3H@��)17'M�1=��3�647'1=7�$37C=��3�$1')=!'=�1��J�C1'���������� ��UD�

� �73K=�6@�$1')=!'=�1��303C)_71'���3�>�))3�4)��*!3$+����������������� ��UG�

� � 6D@�17C)=�4EF=����������������������������������������������������������������������������������������������� ��UG�

� � 6H@��)17'M�1=��3�647'1=7�$37C=������������������������������������������������������������ ��UG�

� �73K=�,@�3!�3'C)=!'=�1���=)�3$1!!F=�=�C1'��*=3!+������������������������� ��UN�

� � ,D@�17C)=�4EF=���������������������������������������������������������������������������������������������� ��UN�

� � ,H@��7�01!3��=��0�!$��������������������������������������������������������������������������������� ��UX�

� �73K=�[@��)='3!!=!��3�01C=,)�61������������������������������������������������������������� ��UU�

� � [D@�17C)=�4EF=���������������������������������������������������������������������������������������������� ��UU�

� � [H@���01'�EF=��3�6=C=))3!1!C3�������������������������������������������������������������� ��UU�

� � [G@�6=C=,)�>�EF=���������������������������������������������������������������������������������������� DWD�

� � [L@�)3>30�EF=��=�6=C=))3!1!C3������������������������������������������������������������ DWH�

�

�

�

�

�



� ����

�

�

@���������8�����

@�������

@�����������	�

@��������

@����������	�

@��������
�	�

@�����	��

�@�����	���
���
���

��

�@�9

����
��	��	�����

@�A
(�������������	�����

@�A
(�������������	����

@��
��
��
�
��
����������

@��	�������
�
��
���	�
������

@�
�
��
�
��
��-�������������������

@�
�
��
�
��
������	�
��

@���������
���
������������



� � ����

�

@� *�������������6����>���	�

����	�������������	���+�

@� *$=!�'�������
��	+�

*�������������6����>���	+�

@� *�������������

6����>���	���	�)���
A
����'�����	8
����
��3���	�
+�

*3����	��������
������	����
��1
�	�@>�	�����+�

@� *C	�
�������I�����	�
��[���	�.�
���+�

[�
	/��
��
�����-����

@� �*=��
�����0�����
��!��9���+�

@� �*�������������6����>���	����I�����

�	�����+�

@� �*C	�
�����	�
��3������
��'�����]

$�����!�����

���	+�

*C	�
�����	�
��3������
��

'����@�$�����1����
���!�����

���	+�

�*$�����J��
��!�����

���	+�

@� *3�����	����������	�3�������J�����+�

@� *��������������6����>���	��������
����	�

6/��
�+�

@� �*�������������6����>���	�

�������
����	�������+�

*'�		�������	�1�
�)������+�

@� *�������������6����>���	���	�

�������)�����+�



� � ���

@� �*�������������6����

>���	��������
����	��������)�����+�

@� �*�������������6����>���	�C�	�����

)-��
�+�

@�!��

�
(�3����	�
�$��	�����&�*$��	��������3���	8
����
��>�		�
�	�+



�

� � � � �D

�

�

3���� 
����	������ ���� 
���
�
�� ��� ��
��� ���9������� �� ��(��	� ��	���
��@��� ����


���	��������-	���
������9������5�������?����
����	�������

�

�� 
���	���@��� �� ���������� ��	�� �� 
���
�������
��� 
��

�	�������� ��� ��.������� 
�� �	������� �� ��� ��	����	9������� 
��� ������� 
�� 
��	����� /��
�� ��

���
��	����
�����9��������	�������
����

�

����	���
������	�������


��
���������'>������������������-�������������
�����
������	�������
�

��#
����������
����

�������
�� ��	� ������� �� ��� �	������� 
�� 
��������� ��	� ������� 3')@'>�� *

+��

�

��	���
��� ��� ��

��?��� 
��

�	���	�����
�������	���������	A���	���
���	���������	��������
����
����������
��
��	�����

/��
�� �� ���
��	���� 
�� ���9����� ��� �	�������� 
�� ����(	����� �������
���� ��� ���
����� ��	�� ��

��		�����
���������������	������
�������
���
����	����	�������
�����������

�� ��	���
��� ��� 	������
��� �� 
������?���


�� ��	����	������� 
��� ������� 
�� 
��	����� /��
�� �� ���
��	���� 
�� ���9���� ��	� ���������	����

��	�������	���� ��		��?��� <��
��� �� ������� ������	�������� 
�� ����	���� 
�� �
�	���	������

*6C1)+�����	�������� ����	8
���� ��	� ��		�
�	�� *!3$+�����	�������� /������ �� ��	����	�������


�����������	�������	����������	���������/������*=3!+���������������?����

�� ��	���
��� ���

��
����?��� 
��� 	������
��� 
�� ��	����	������� 
��� ������� ����
���� ��� ��	���������� ����	��� ��

	���	#
�����������(	-�������



� � �H

� 5��� �	����� 
��� ��(��
���� ������� 	�����������
��`�

647��$37C=!� �3� �0�!$��� 301�!=$3C)1��� 3!�3'C)=!'=�1�� �3�

�I!=)EF=� �=� 176)�>3)$30[=� *6C1)+�� �3)610=$3C)1��� $1')=!'=�1��

J�C1'��� $1')=!'=�1�� 303C)_71'�� �3� >�))3�4)�� *!3$+��

3!�3'C)=!'=�1���=)�3$1!!F=�J�C1'��*=3!+����)='3!!=!��3�01C=,)�61���



�

� � � � �G

=�� ������� 
�� 
��	���� *!��7&+�� /��
�� *!�=�+� �� ���
��	���� *!�=�7&+� 
�� ���9���� ����

�������
��� ����� ����
�� 
�� ����������� 
�� ����	�9����� 
�� ��������� �
�	�� 	�(�?��� ������� 
��

�	�
�����	��� [IC� * +�� $3!63C� *

+���$1!63C�* +�

aD�Hb���������		��	����	���������	�����
���	�#
���
�������	�����
��,����
�	�
����������
��

	�������
���� �� ����� 
�����	���� 
�� ��	��� ��� �	�
�����	��� 
�� ������� 
�� ������ $1!63C��

�������
���������

�����	�(�
������������	�
���������������
�����	��-5��
���������

���� ������� 	������
���� B� ��		����� 5�9����� ��� �����?��� 
�� \=[� *��
	/��
�� 
�� ���-����+��

3��	���	��� ��	��
��� ��	� ������ ������� *!��7&�� !�=�� �� !�=�7&+� ���� ��	(����
��� 
������

�����?��� 5�9������� '�		��@��� ����������
��� �� �����	���� 
�� ���9���� *!�+� �� ��	��@��� ���

����	�
��� �� ��
����� 5��� ��
��� ����	� �����
���� ��
��	��� �� ��
	��� (	���
�� ��	�� ��

����
����
�����	��-5��
���aG�Lb��7�������
���������	�����
��
���������5�9���������	��	�
��

����� ����	� �������
�� ��	� ������� 	������ *)�'>�� @�

+�����	�(�

�@�����	����	�
�������3')�* aN@Rb �

�	���

�@�������	����������
���
��!��7&��!�=���!�=�7&����	���������?���������	����	��������

��������������	�
�������
���������
������	�����������
�����	��-5��
���*���	���
������	��

�����	����
��!�+��=��
��	�����
���������������
��������
������
��������
���(����	�����B���
�
��

5��� ����
������� 
9����� 
�� �
��(	����� �� 
�� ��������
�
�� 
��� ������� ��
��	��� �� ��	�������

����	8
���������
���
�?���������	����	�������
�
����	������

3���� �	������� ���� ����� ��.������ �� ����
���� �� �� ��	����	������� 
�� �������

��
��� 
�� !��7&�� !�=��� !�=�7&� ���	�� !�� ��	� 
��������� 5�9����� �� ��	��	� 
�� ����� ����	�

�������
�� ��	� ������� 	������ *)�'>�+�� ���	�(�

�@��� �� 	����	� 
�� ����� 3')@'>���

* +�� 3����� ������� ��	��� �������
��� ����� ����	�
��� ��

��
���� �����
���� ��� ��������� 
�� ���	��-5��
���� �-���	��� ��� ��		��?��� 5�9�������

�	������� 
�� ��	������� '$=!� �� ����
���

���	��������� �� (����� 
�� �

���7�� ��	����	������� 
��� ������� ��	��� �������
��� ��� ���
����� 
��



� � �L

���������	���� ������	����	��� 
�� ����	���� 
�� �
�	�@��	������ *6C1)@�

+�� ���	�������� /������ �� ���	�������� ����	8
���� ��	� ��		�
�	�� *!3$@� !��

�
(�

3����	�
�$��	�����&+��7���
-�����
�����������	-��������
�������
����
��������	����������	�

��������/������*=3!@� +��

�

� =�
��	����
�����9����*!��7&�+���(�	����
������
��
�����	�������
�����	���	���������
��

���	���
��	���� 3���� ����	���� �������� ��	������� ����	8
����� '$=!�� ����� ��
���
�� �����

��		��	�� 
�� 
������� 
�� 9�
�� �/������ ��	������	��
��� 
�� 7�c� *9�
�� 
�� �/
��+�� ������� �����

��������
�
��*����	�5���H+����	����������!�������!�=�����
���
�

�����������
���	�����	��

*�-���	�+� ��� �	�������� 
�� ��		����� <��
��� 7��� �	�������� 
�� ���
����� ������ *0='=!+��

��		�� �� ���
����� 
�� !�� ���	�� 	�(�?��� ������� 
�	�
��� �� ���	������� 
��� 
������������$=!�

* +�� ����� �� ��� ����	���� 5��� 
��� ���
��� =��	��� �������?��� 
��


��	����
�����9�������`�(�����
���

��/������� �����
���
����	���$=!���-���	������	��������


�������
������
��9�
������		��	����
�	������	
��
���	�#
���
�������	�����
��,����
�	�
���

�������
��	�������
���aL�Ub��

� ��
�@��� ����	� ������� 
�� !��7&� ��	� ���
����� 
�� 
��������� 5�9����� �� ��	��	� 
�� �����

����	� * � ]� '>�+�� 5��� �� ��� �	������� ����� 5���� ��� (����� ���

����	��� 	��(��� 5��������
���� ����

�� B� ��	������ 
�� ���� ����
�� �/��
�� ���	�� ��

�����	�����7�	�����
���� 
�� ��	������ 
��!��7&�� ��������@��� ��� ��(��
���������	���(�������

������������	�����������	���?���5�9������aL�DWb`�

�

�����	�����
��c���8
��`�G!�'�H[H�c�L7[G�d�!�G7L�c�X['��c�X[H�

!���
��c���8
���e�!�[L�c�L7[G�d�!�G7L�c�DH[H�����!���7&�[��c�[H�

�

� 3���� ���
���� �
��	��	��[�
��� �������
�������
����f��
�������	� ����
��
�	�����
��

[����
�	���
�
��
�
���$�
�	�
�
��
�
�������	���	���
�
�������	���������
����		��������

�����?���
��\=[���
��[6��3�����
��	��	��������	���
��
���
���(�������8
���*7[G+������
��



�

� � � � �N

*!�[L+� ��
����	�����
�� *!�'�H[H+����	�� 	�
���	������5��
��
�
��
����
	�(#
��� �
��	��	�
���

�������@���
��	�(#
�������������������
����8
�������	���������������
�����	���������
�������


�
��
�
��aDDb��=�
��	����
��������

��?�������	��
�������	������5�9������������aDHb`�

�

!���
��c�7��	�(#
���e�!�[L�c�H7H�d�!�G7L�c�X[H�

�

�� �� ����������� 
�� ������ 
�� 
��	���� ��
�� ��	� ��
�	���
�� ��	��

�@��� ��(�
��

��	A���	���
��
������������������������������
��(�������	�������������	���	���=�9

����
��

	��	����� �� �� ��
���
��� 
�����	���� 
��� ������� ��
�� ��	��	� �
�	�� D�R� �� H�N� �� 
�� X� �� U��

	�����������
���� 
���

�

�� 
�� ���� ������������ =��#�@��� 
�
��
�
��� �
�	�� H�L� �� G�H�

(2��G� aL�DWb�� �� ����� 
�� ��		����� 
��� ������� 
�� !��7&� 
�������
��� ��	� �	������� 0�'>��

* +� ���-� �
�	�� W�N� ��D
�2��
���� �����
�� ��		�������	�� ������ ������� ���

��������
��\=[������������������
�	�5���W�N�
�2��
�aDG@DLb��

�

=� ������ 
�� /��
�� 
�� ���9���� *!�=H+� �� �� �����
��� ����� �������
�� ��� �	�������� 
��

���	������� 
�� ��	������� �
��(	�
���� 3���� ������ ��
�� ��	� ����
�� 
���	����
��� ��	����� 
��

�A��
��
�����9���������
������������	� *�

�����-��	���
��������(#
��+�� 	������

��������

���
�� 
������ 
�� ��	�����
���
��� H� 
�� aDWb�� ��� ��	� �	������� 
�� ���
����� ��	�����

*�	�������5�9�����
��	������
�����9�������������(#
�����	����	��	���/��
��
�����9���+�����

��	����
����'>��aL�DW�DNb��

� 7�� �	������� 
�� ���
����� ��	������ ��	�� �����	�	� �� 	������� �� 
�����-	��� �5����	� ��

�A��
����������	���	���
���������
�	��RWW '���DHWW '��3������@������5������
�����������

�����	���	��������	
������	�@��������
�
���
�
�����	
�����
��
���
�����=����(#
������
��


�� 	��������
����	� �
�	�
���
�� ��
�����������(-��
���������	���� *���
���������+�5��
���

����� ����	� 
�� -(��� *���
����� <��
�+�� �� ����
�� 
�� /��
�� �	����
�� ��	� �	������� 
��

���
�������	���������������
�����	��	��
�
���
���������
�������	��������������`��������
��

	����	������	���5���DG�$>2�����������
�
��
�
���
��
��������
���	
���
��DWDW���@H������

���������(�����
����
��(�
������`�

�



� � �X

����������	���	��
���	�������*����	�5���RWW�'+��

3����
��������
���	�������*
���������
���
���
���
����
����+��

'�
�����
�������	����*���9���+��

0���������
�������	�����������
��*���9���+��

�

� 7���	�������'>�����������@��� ��������?���
��(����� *�����	��(�����+� ���� ��
����


��!��*����
��*!�[L+����
����	�����
��*!�'�H[H++���
�����(#
���*=H����7H=+���	����
���������


����������
���/��
��
��/��
��
�����9���� ���	���� �����	�����3���� ���
����
�����	
�������

������ 
�� ���� ���� 5����
�
�� 5��
��� ���� �	����
��� ��	������
���� ����� ��	���
����

�
��	��	�����
����
	�(#
���
���
������(������������
���aDWb�*����
��*!�[L+����
����	�����
��

*!�'�H[H++��������	���
�����(�������
��(�
������`�

�

C����	���	���
��
����������������*��
�	�5���RWW '+��

I�����������
���	�������*������������
��
�������������	���5���DW�
�2��
+�

7����-���
�����
�������	����

��
�@����������	�5���5��	�����	��������������	����

=���������
��!�=H������
�����	��	�������
�����
�������	������5��

���������
���B�

��		����� ��� �������� ������� 
�� [6� * [6� @� I[6+�� ��� �����	���	�� �����
����

��	���
�������������
����		����������	
��
��DWW�
�2��
��f��

���������
��������������


��\=[����!������!�=H���	�������	���
��������������	
��
��DWWW�
�2��
���DWW�
�2��
��

	�����������
����������������
�
���
�	�� ������
����		������
�	����!������!�=H�
��DW��3����

��������
�
�� ��
�� ��	� ����	�
�� ����� 
�
��
�
�� 
�� ������ 
�� !�=H�� 5��� 
���

�� 
��

��
��
�	�����
��[�
���������f��
�������	�����
��
�	�����
��[����
�	���
�
��
�
���3����

�
��	��	����� �� �	���
��
��� 
�� �����
��� 
�� ���
����� <��
�� ��� ������ �����
��� <��
��

�
��	��	�������[�
�����������

���������
���������	�
g-(����
��5��������
�����������5���

������������
�����(-�����(#
����=���������
��!�=H���������������
���
���
�����	����
��G�U��

����
�
��
�
�����-��
�	��H�DR���H�HP�(2��G�������9

����
��	��	����������	
��
��D�LX�aL�DW@

DH�DN@DXb��

�

�



�

� � � � �P

�

� 3�����	�����	8
������������	� �����
���5�����
������
��
�	�	�����/��
��
�����9����


���
�� ��� ����� 
�� ��	� ��������� 
���	��� 
�� ���9����� ��	� ��� /����� 
�����	���� 
�� ��	��� ���

�	�
�����	��� $=!�� ���� ������
��� ��		��	�� 
�� 
������� 
�� ����	����� �� ��	���
��	� /������

��	����	9������� 
�� �
��	����� �� 5��� ��	������ �� 
���
�������
��� 
�� ���
���(��� ���
�	� �� ��

	-��
������
���
���������
���
��(	������

� =�� �������
�����
��	����
�� ���9���� *!�=�7&+� ���� �������5�����
�����	�����
�������

��	����	9��������
�	��
��	������/��
��
�����9�����
���

�

��
����
��
�	�����
��
��	�(#
�����

���(#
���
�����������
�@�������	�
���	�
������������?���
��!�=�7&���������������
�����
��

����
����
��/��
����
��	����
�����9�����������
�����	�������
��	�������	��
�������������	����

������9���� ��������	��������
�����	����	������������	������5�9�����
�	�
������	�������


�� ����
���� 
��� ������� 
�� !�=�7&� �	�
��� ��
�
���� ��� ����� �	��	��
�
��� ����	�����

*��
���
��� �� 	����	�� 
�����	����+� �� ���A
����� *���	����� �� ��	���
�
�+� �� /������� *9

���� 
��

	��	����+����	������������
�	���

�@�������
��
�	�����
��
��	�(#
��������(#
���
����������

*!�=�7&+�� ��
�@��� ����	� ��� 9

���� 
�� 	��	����� ��	�-����� �
�	�� D�LX� *!�=�+� �� H�W� *!��7&+��

3����� ��	����	9������� ��	
��� �� !�=�7&� ��� �
��	����
��� ����	���� ��	�� �������?��� ���

����	�
�������
���������
����������������
�����	��-5��
�������	���
������	�������	����


��!����(�����
���

��aHDb���

�

� =� �	����
��� �
��	����� 
�� ���5����
�	��� �� �

<��	���� ���	�� ��� ���	����������

�
��(	�
���� 
������ <������� �
���� ���� ��
�� .��������
�� ������ �
<��	��� 
������������ ��

�������?��� ����
������ 
��� ����� 
���	���� -	���� ���	(�
���� 
��� ��������
����?����

���������9������� ��
����� �����
����� �
�	�� ���	���� =� 
���
�������
��� 
�� ���
����� 
��

���	������� 
�����	����	���	��� �����
���� ����������
�� �� ��
��	����� 
�� 
����� ��
��	��� ��

����
�	��� ��
����	���
���� ���	���
��� ���	�� ���������� 
�� ��	������� �
��(	�
��� *'1g�+�� =�

���
���
����	��������
�� ���	�������
��'1g����	�������.�� ����
��	�����
�����	����	���	���



� � �R

���A
����� *�����
���+�� �/����� ��� 
���� 5��� ��
��� ��	� �����	�
��� ����� ��
��	��� �2���

����
�	��� ��� ��������� ��
����	���
���� '�	����
��� �
<��	��� ���� ��� -	���� 
�� �
��	����� ��

�������?��� ����
������ ��	�� ������ ���	����	���	���� �
����� �� �	�
������ ����	�����

���� ��.��

���-� 
�� ��
����	������� �� 
�� �
��(	����� 
��� ��
��	��� �� ����
�	���� ���� ���� 5��� ��


���
�������
���
�����	�����������	8
������ ��
���
�(������5��
����
��/(��������	���
���@���

�����
������
��
����

=� ���	��������� ��
��� ��
�� ��	� �������
��
�� 
�� ��	��� �9�	�
�� ��� ��
��9������

[9�	�
�� 5��

�� ����� �� ��������� ��	������ 
�� ��� ������ (�	����
��� 5��

�� �� ����	8
���� ��

����	�
�� 
��� ���	���	������	����
�
��� *���A
����+��$�
��9����� 
�� ����� 
�� �
��(	����� 
��

�����������������
�
�	��
�����<
����������T�(�	����
����	���	�
��������������
������
��

��	��� ��
��9����� 
���
�� B� 	�
����� 
��� �	�������� 
�� �
��	����� �
�	�� ��� ������

*��
�������
�
����
������
��+�������
���
��	�

���
���
�����	����������(	�

���������
��

�	�
������ ��
����� 
���
�	� ������ ���	����	���	��� ����� ��

�� ���������

���	�����	����A
�����* �]�$3$!+��

�

� ������ ��������		�� 
���'1g�� ����	8
������ �� ���9���� �� ������	��������� ���
�� ��	�� ��

��
��	����� 
��� ���	���������� �
��(	�
��� �	�
�������
��� ����� ���� ������ �� ����� ���
���

����
�� 
�� 
���
�������
��� 
��� ���
���(���� 
����
9������ =� (	�

�� 
������� ��
������ ���

���	���	����	���
��	��� �����	�����
�	��� ���	����������	���� �
�����������
�����
�����	����

��
��	�����
�������
�
��������	8
�����*�	�
�����	����
��
����	������	������������	��+��3�����


������������ �#�� ��
�� ��
��	�9
��� �	�
�������
��� ��	����� 
�� ���� 
�� ���	����	���	���

�����
���� ��� ���	����
�
���� ��� ���	���	��� ������
��� �
��
�	�
��� ���� ��
����� ��(��� ��

����	�
��������	�����	���(�����	������
������������	�	������
�����	����������
���	����

�������?����

��
����� 
���
�	� ��� ���
����� 
�� ���	������� 
�� ���	����	���	��� ��� 
���� (	�

���

(	����`� �	�������� �����9������ ��	�� ���	���������� �� �	�������� ������9����� ���� ��

���	�����	8
�����=�� �	�������� �����9������ ��	�� �� ��
��	�����
�����	����������(�	����
���

����	������� �� �
��(	����� 
�� ����	8
���� ��� ��	� ��
��5h#
����� ���
��� ���	�����������

�9�	�
�����
�����	�	������
�����



�

� � � � �U

�

��� ���
����� ������9����� ���� ��� �	�������� 
�� ���	������� 
�� ��	������� �
��(	�
���

*���	�����	8
���+�� ��	� ���� ����� ��
�	���� ��

�� ��	� ����������
��� ��(�

�� ��� 	�(�?��� ���

����
���5�������	�����
���*��		�9
��+���	��������	�����
������	���	��������
�������
��	���

������
��6�(�	��D�D`�

�

	������� 
�� �����	���� ����� ����� �
��	�	� ��� �����	��	� *

+��

	������� 
�� �����	���� ����� ����� ����	�	� ��� �
��	��	� *

+��

	������� 
�� ����
��� ���	��������� 
�� ����	�9���� 
�� �����	���� *

+��

�

�� ��
��	����� 
�� ����� ���	���	��� �� (�	����
��� ������ ��/�� �� ���	������� 
��� ��	�������

����	8
�����
���
��B���������
�
��
����	��������
�����	�����	8
������
5��
���5����������

������������������������
����		��������������
�����	��������	�����
������	���	��������
�����

$��	����	���	��� �����
���� ���� �������
��� ��
��	�9
��� �� ��	��	� 
�� ��		����� 
�� �����

�
��	��	��2��������	��	�
�������	����*���	����
�(������������ ��



� � �DW

	�����������
���� ��� 
���	�
���� �
�	�� ������ 
���� ���
����� 
�����	����
�(��� ���� �����
���

���
���
��� ��
���
���	�������
�����	�������5��
���
�� �����
�����	���	��
���.�
���7�������


�� ���
�(��� ����� ����� �
��	��	�� �� �����
���� 
�� ���	���	�� 
���@��� �	�
�������
��� ���

�	�������
�� ��		����� ����	��� * +�������
�(�������� ����������	��	�
�������	�����

��	�����������������
����������
����	����	����������
������	�
����=���.�������	�
����������

	���������� 
�� ���� ��		����� �	���

�� ���	�������
��� ������		����� ����	��� ��(
�������������

���
�(��� 
�� ����	�9���� 	���	�@��� �������
��� ���� �	�������� 
�� ��
��	����� 
��

���	����	���	��� �����
���� �� ��	��	� 
�� 	������� ��� ��		����� 
�� ����
��� �	���
���� 
��

����	�9����
�������	�����

��� �����?��� 5�9������ �������
��� 
�� ��		����� 
�� �����	���� ��
��� ��	� ��
���<��
���

*�95��
��+� 5��
��� ������ *(������ ������+����� �����?��� <��
��� �#�� ��
�� �	���	�
��� ��	� ����

��������
�
����������
�
��
�������������'�	����	9�����������	��
����
����		�����<��
��������

���� �
����	������ 5��
��� B�� 
�	��?��� 
�� ���5��� 
�� ����	���� ���� �	���	�
������ ��(�

�� ��


���������� 
�� ����� ���
��� �	������(	-������� �� �� ��������
�
�� 
�� ���5��� �
�	�� 
���	�
����

����	������

=�� �	#�� ������ 
�� ���
����� ��	���
��
��� *

+��5�������������9�������������	��������
��

���	�������
����	��������
��(	�
�����	����������
���
������	��������



�

� � � � �DD

��
���������5�9���������	��	�
�����������	�* �]�'>�+���

����	������������5�������(������������	���	��(���5��������
���� ����

��B���	������
��

��� �/��
�� ���	�� �� �����	����� 7����� ���
����� �� �����	����� �

�� ��	-� 
�������
�� �� ������� ��

������
�� 
�� �
��	��	� 
�� ���� �A��	�� ��� 
�� ��� ������ �

�� ��� (����� �	���	��	��� ����

�
.���
����

�

=� �	������� �-����� 
�� 
��������� 
�� ������� ��	� '>�� ��
������ ��� ��(����� �������

*6�(�	��H�D+�5��������������
�������(��	�aL�DW�DN@DXb`�

D� @� �
�	�
�����
���A��	��
��(�����	��(�
������
����
����������
���	��
�
���������������

���������

H�@��	�
���	���
�����������	�������������������	�����

G�@��
��	����
�����������	��������
������	�9����
�������	�����

L�@���(	�����
�����������
������	�9������	���?���5�9������
����	������
���������

N�@�
����	����
������	�
�����
��	�������

X�@��	�
���	���
�������	�
�����
��	��������	����	�(����
���������	�
��������

P�@�	�������
�������	�
�����(�������
��	��������(������
�����
����
���
���	���������

�����
���A��	��
��	�������



� � �DH

�

7�	�����
���������
����'>����	���
��������
��
�������������	�5���DW�
�2��
����

	�������� ��������
�
�� 
�� ���	����� 
�� �5������
��� �� ������
�
�� ��� ����	� ��� �����	�

��
�	�������	������������
�������
�������	�������������	������	����
���	���������	���	����

��
�@������������	����
��	�������
���������
���	�������'>�����	���	��	����������	��������

��	�����
������������
�

������������	������	���	������
���
���
������?���aL�DW�DN@DXb�

� �� ����������� 
����� �	������� �� �����
��� 
���	������
�� �� 
���	�
��� ������ 
�� 	����	���

'>��������
����
����������
������
���������	��
�	������`�

�

!������� * +� aDXb�� 3�����

	����	��� ��	��� ��� �	����	��� �� ��	��� �������
��� ����� �

<��	��� 
�� ���	�����	8
����� !���

���	���	�� �� �������� �� ��	����� 
������?��� ���� ������ ������ *����	��� 5��� DWW� 
�2��
+�� 
��

�
��
���� �� �������9���� �� 	���?��� ��� ����� (������� 
��������� 
�� ����� ������ 
�� (����� �� 
���

��	���
��� ���� ���� ����	��	�� 
�� 
�(	���� 4��
��� 
�� 
��������� 
�� ������� �������



�

� � � � �DG

����������
������9����������������
�/��
��
�����9���������������
��	����	�
���������
����������

��
���
���
���
��B�
���������
�����	�
���
���A��	����

�

7�� �������� 
�� * +� aHPb�� 5��� �� ���

	����	�
���������	
����
��
���
����5����
����	�	�����#
��������	�����B�
���������
����������

�/��
��� �� �������
�� ��	����� 
�� �
�	(��� ��	����� ��	
���
�� ����� 	�����#
���� ���� 	��(�
����

(���������������	���	���
����	�����
���
���RWWi'�������������	������*W�HN���H�W�C�		+��

7����� ����� 
�� 	����	� ��
�� �� �A��	�� 
�� �	������� �� �5����
��� 3����� 	����	��� ��	���
����

�����	��� 	������
��� 5��� ��� 	����	��� ��'>�� ��� ��	���� 
�� �
���	��
�
�� 
�� ������


�������
��� ����	��	�� 
�� 
�(	��� �� ��
����
����� ��	� ��	�9��������������	��� 
����
��(�
��


��������������������������������
��
���������*DW@NW
�2��
+���������������	���	���������
��

*RWWi'+��

�

7�� �������� * +�� �����	�����

�

���
�����������
�����������A��	��
���	����������������������������
���	�
��
���������

�A���
������/(�
������	���
���
����5����
�����������������	���	���*����	���5���RWWi'+��

��
������������������
����	�����
��	������
���(����� 	��(�
����
������	�9����
�������	����

�5����
��aHRb��

�

7���������� * +����
������������������
�����������������
�������	������

�/��
���	���
��
����
��0�!3)������
���
�����	�@��������*4>+��5������������
��	������
���

(�����	��(�
����aHUb��

�

7���������� * +����	�(�@��������
���(���'>���������
��

��	� ������� *(-�� ��	������
��� ��
���
�� *��.�� �
�����++�� 5��� ��������� �� 	������ 
��� (�����

	��(�
����
��	�(����
�������	���������������
����������	���	���������������*��
�	���5���

NWWi'+� 5��� ��� ���(�
��� ��	� '>�� ��	����� �� )C'>��� ��	� ��������� 5��

�� ��� ���-�

�������

��������9
��������
9����
���������������
���
��������
��XXWi�'���������
������


���������
��
�����	������
��	���-������
������	��������
���
�	��HWW���GNWi'����	�������	���

��	
�� 
�� ���� 7�� 	����	� �3'>��� �� �����	���� ����� ���	��� 
�� �������� ����� ��� ������� ��


����	(�� ����	���� 
�� 	�(���� 
�� 
���������� ��
���

�@��� ��
��� ��� (����� 5��� ��	�������� 
��



� � �DL

�	�������� ��	��
���� �� �����	���� ����� �������� B� 	�
������ �	�
���
�� ����� ������� aHU@GWb��

,�	����
���� ��� ������� ����
��� 
��� ���� ����5������	����� �� ��� ����	�
����� 
�� 	�������

����������
���� ��
	�(#
���� ���(#
��� �� 
��	�(#
���� ��
��� �
��	��	�	� 
�� ������� ���

�	�5h#
����� 
�� )6� �������
��� ��	���� �
�	�� LNW� %[�� �� DG�NX� $[��� �� ��� �	���?��� 
�����

�������������
�	��NW����		���N���		�aDXb���

�

7���������� * +����	�(�@��������
���(���'>��

�����������	����������5�����
�������������������������
����	��������������
�����������

������@��� �� 
����	(�� ����	���� ��� 	�(���� ������
�� 
�� 	�(���� 
�� �����	���� *������� 	�����+��

1�
����@�������
�����	���
���	��(�
�����5������������	�
����������	���(�����
���	�������

���	�
���	��
�����	����	�(����
��
���������aHU@GWb��

=�� 	����	���� �3'>�� �� )�3'>��� ���	�(��� �� ���
���(��� ������@'>��� 7��

���
���(��� ������@'>��� �� �������� )�3'>�� ��	���
��� ��� ��(��
���� ��
��(�
�� ���	�� ��

�3'>�`�

�

�� (	�

�� ��
��(��� 
�� �������� )�3'>�� �� 5��� ��� �����	����� 
��� ������ ���������


�	�����
��� B� 	�
������ 
�� ������� ��� ��	��
���� 
��� ���� �����	
��
��� ������ 9�
�� 
�� �����

�
�	(������5������		��
��� ����������3'>���=������	
����
��� �8
������
��(�	�	���	(���


�� �
��	����� 
��� ������� �����
���� �� 
�
�����	� �� ����	�9���� 
�� �����	���� ������

���	��


�(	�
�

�������	����	9�������
���
������������aHU@GWb��

�

�� ��
�������� ��� 	�(���� ������
�� 
�� �����	����� �� �������
�� ��� ��� �������� (����� 
��

�	�������� ��

�� �

���

�
��� 
��� 
������� �� 5��� ���� ��	����
�� ���� ����� ����	� 
��


��������� �� ���� 	�
����� 
�� �����	���	�� �2��� ������ 
�� �	��������
��� ��� 	������� ����

�	���������������
������	����	����3'>���������	
�����	��������
��
���
����
�����
�����

��
��	�������aHU@GWb��

�

�� ����������� 
��� ������� �����
���� 
�� !�=H� �� 
�� !�G7L� 
�������
��� ��	� )�'>�� ��

�������
���B�����
����	���������	����
�����	������
��������	
�����
��
���
�����=���������

����
�����	��3'>����	���
���������������
���	�
���
��� ���������	��
�����	������
����



�

� � � � �DN

������
������	�����������		���
��	��	�����
������	�
�����
��	���������������
	�(#
����5���

��	
������������	�����
��������
�
��
�
���������������5����
�
���
�����	�����aGWb��

�

��	��
���� �� ���
���� )�'>�� ���� 
���
��	�
�� ��	������ ������
��� 
�� 5��� �� ���
����

�3'>������	�

�����
�����#
�����
��5����
�
��
������������
����	��������
�	����aGWb�����

�	�
������� ��
��(�
�� 
�� �	������� 0�'>�� ��	����� ���`� �����	���	��� 
�� �	��������
���

�������*��
�	���5���RWW�'+���������
����
���	��
�
��
����������*����	�5���UWj+�aHPb��

�

�

� I�������
������������
����������
�����������'>���������
�����	�������`���
�	������

�� 	�������7����������
���������
�	�������
����	(��������������
��
��	�(����
��
����������

7����������� ��
������(�������	������

��
���	�������������
���
����7����������
���������

	������������
����	(��
������		��
��	�(����
��
�������������������������	�(����������
���

7����	�������� 	��������
�����
������(����� 	��(�
��������
������	����
���������
��������

������� aDH�DXb��'����
����� ���
���� �� ������� �� ��	��
�� ��	�� 
�� 	�(���� 
�� 
���������� ���


�
��� �	�����
��� 
�� �����	���� ����� �����	
����
��� �8
���� ���� �����
��� 	�
���
���� T�

����������	��
�����	�����	��������������������
���������	��������
���A
�����
�	����	�(����


��(�	�����
�������������
���	��������k���
�
��5��������
���A
��������
����	�
�������������

5��� ������ �	���
���� 
�� 	�(���� 
�� 
��������� 
���
����� ����� �� �	������� 
�� 	������
�����

�
�	�� ��� ��������� ������� ���� ����	� ������ ��	�� ���		�	�� 3���� �	������� 
�� 	������
�����


���

��
���	�������������
��
�����������f��
�������	����	�����������	����	�������
�
��
��

�����?����
�	��	�
����������
��

���������
��	������
�����
�������(������aDH�DXb��

�

� 4������	��
���
���
�������
�������	��������
������	��������
�������
�
��
�
����


�� ������ �	������ �� �� 
����	(�� 
�� 	����
A
���� ������	8
���� 
�� ����	�
�� *3')� ]�

+�� 3���� ����� 
�� ������� �� �	�
���
�� ��	����� 
�� ���� ���������� ��	�

���	��

���*H�NL�,[�+�(�	�
����	�����-(
��	�
����
.���
��
���A��	��
��3')���	�����
��

��� (���� 
�� �

�� *��	� 6�(�	�� H�H+�� �� ��� ������ ��(
������ ������
�� ��	����� 
�� ����
���



� � �DX

��(
������� *RPN� ,����+�� =�� ����	�
�� 
�� ������� (�	��� ��� ������ 
�� ��
���� 
�� ������

��(
������ ��� �	�.��/	���� �������
���� �� ���� �	�5h#
���� 5��� 
���

�� 
�� ������
�
�� 
��

������� 3�� ��

��?��� 
�� 	����
A
���� �
�	�� �� �	�5h#
���� 
�� (�	�� �� �� �	�5h#
���� 
��

���	��

����
��
�
�����������	�
������	�����
�	(����	��

������������
�������
�
��
�
���

6�	�� 
�� ��
�� 
�� ��������(
������ �
���	���� �� �
��	����� 
�����	��

�� ���� �� ������� ��

	���������
����	�����=������	�
���	�
���
���
����
��
���������
�
������
���

��������
(��


��� ��
���� 
�� ������ ��(
������ *�

�� ��	�� �� -	��� �
��	��	� �

�� ��� ��������� �� �A��	�� 
��

�	������+� ����� 	-��
�� 5��� ��� 9�
��� �	��

�� ��� ������ ����	���� 5��� �	������ �� ���	�����


������� �� ��

����� 
�� 	����
A
���� 	������� ��� ��� ������� �
��
���� 
�� ����� 
�
��
�
�� 5���

��
����	���
��
������������	������(�	����
����
�	��DW@N���DW@H�C�		+���

=���������3')������������	�������	�
����������	
����
���
�������	����	�9�
��

���� ����� �
�	(��� *��� 9�
�� ���� ���	�9
��� 
�� 	�(���� 
�� ������� ��	� ��� ������ ������
���


���	(�
��� �� 
���

��� ���� �� �����	�+����
�����

�� �� 5��
��
�
�� 
�� 
�������� �	�
���
���


�������	�9�����
�������	����������

���	���	�	�
��������	�
��������
�
��
�
��
�����������

	��������� ��	����� ������
��
�������������	���5���DW�
�2��
��������������� ��
���������
��

�������������������	���	�������
���������
�������������������3')�������	��5����
������

������
���
��)6�*�	�5h#
����
��DG�NX�$[�+�������
�������	��@�����	����

����������������

�����	�������
�@�����
�	���	����
�	(���
�������	
����
���
�������	����	�9�
���	���
��
����


�� 	�(���� 
�� �������� �� ���#
���� 
�� )6� �� 
�	�����
��� �	���	���
��� ��� �����	
����
���

�8
������

� =� �5������
��� 3')� ��	����� �����
�	� �	�������� 
�� 
��������� ��� ��		������ ��

��	����� ������� ���	�	� ���� �	���?��� ����� ������� 
�� 5��� ��� �������
��� ��� �	�������� 
��

���������
��
���
�����=����	A���	���
���	�������5����
����
�����
����	��	��
�
����9������

��
�������������5�9�����
�����������������(�����	��(�
������� �����	���	��
�������	�������

�	������������������
���(������������#
�����
�����	��

�����
��)6����������
��
�����������

���	�������	�������������������
�����	�
���
���A��	���5�����
���(�	�	� ����	�����5������

�
��	��	��� 
�� ���	���	�� 
�� ������� 
�(	�
�

�� �� ���� 5����
�
��� 7�	�����
���� �
���� 
���


������?���� ��������@��� ������� ��5h�
������ 
�� �������� � ���� �������� 
�� (�����

	��������� ����� �� !6X�� 76G� �� �� [H�� 5��� 	������ ��� ����
��� 
�������
��� 
��� ��	�
��� 
���

�A��	������
���	(8
���5���	��������	��9
�����



�

� � � � �DP

�



�

� � � � �DU

�

6��������
���
��
��	��������
��	������/��
��
�����9����*�����������	�������	���5���GW�


�+���	���
�������
������	�������	�����
��!���������
�������
���(������	c!�[L�c7H��2���

=H��4�������@�������������3')������������	������������(�	�
�	�
��)6�������
�������	��@

�����	��� ��
���� !0)@PPW� 
�� ������� C��	��� 3���� �������� 3')� ��	��
��� ��� ,	���� 
��

���5����� ��	��
�� ��	� �	#�� ����	����
���� 
�� 4
���	��
�
�� 3���
���� 
�� '����
���

*471'�$�+`� ����	����
��� 
�� !�����

���	���� 1
��	���
���� �� 6��8
���� *�!16+� 
��

6����
�
��
��3
(�
��	���3���	������
��'����������*633'+�� 0���	��/	���
�����5���������

������������� *0��+� 
�� 1
�������� 
�� 69����� :,����  ���(��
;� *16, +�� '�
�	�� 
��

'����
�
���� !�����

���	��� *''!+�� =� ���� 
���
��� ��5���-����� ���-� ��	���
��
�� 
��

6�(�	�� H�H�� =�� (����� ��	��� ��
���
��� ��	� ��
��� 3')� 
�� ���	��

��� 
�� H�LN� ,[�� ����

���#
���� 
�� DWWW� �� ��	� ������� �
�	�� DW� �� GW���
������ ���� �����
��� 
�� �	������� ���

�	���?���
��N��DW��DN��HW��GW���LW��C�		����������������	�������
��
�����������	���	��
��

HW '� ����� �������� 
�� 	��	�(�	����� 
�� ��	��@�����	�� 
�� �A��	�� 
�� 3')�� �� ����� ��	��@

�����	����	���������
������#
�����
��W��D��G��N���DW� �
��)6�*DG�NX�$[�+���	����
�	����
��

�����	
����
���
��9�
�����	���������	�����=���������
��(�������	�����	��
�����
��	�����

������ 
�������
��� C�
��� ������ ��	A���	��� ��	��� �������������
��� ��	��
��� *��
�� C������

H�W+�� ��� ������� ��	��� ��	����	���
��� ��	� ���������	��� *�
���� I+�� 6C1)� *�
���� '+��

��	�������	��� *�
�����+�����	��������/������ *�
����3+����!3$�*�
����6+�� �������������

��	�������
�
�����	�=3!�*�
����,+��'��������������	���� ��	-�����9��������	� 	������
���


��� �������� 
�� �	������ 
�� �	�������� 
�� ������ 
�� (����� �� 
�� ���#
���� 
�� )6� ������
�� ���

�����	�������	����
���������
��������
�����

��	�� �� ��	������ 
��� ����	�
��� ���� ��� ������� 
�� 
��	����� ���
��	���� �� /��
�� 
��

���9����� ��������@��� B� ���
���� 
�� ���	����	�������� 
�
���
�
��

��5���������		�����
�������	����
��!����	�����
�����������	��	�
���A��
���7��

6�(�	�� G�D�� ��	���
��@��� ��� ������� 
�� �	������� ��	�� ���	������� 
��� ����	�
��� �� ��
����



� � �HW

�����
�����������������������
������`� ��������)'��aLb��
���������3')@'>��
����������


��������������	��	����
��	��	�
��������	����������(	�����
����	�������	��	���	��
���
�����
���

���	���	��������
�������		�����
�������������	����������������
��[6�* �[6+������	�

��		����� ����� ��	� �������)13� * +�� 	�������
�� ����		������� ��	�����
��

�������� �	(A
����� �� ��		����� <��
�� 
�� !�� ��� �������� 
��\=[�� ��	�� ������ �� ������ ���
��

����� ����
�� �	�����	�� 
�� ����	�9���� 
�� !�� 
���� ��	� 	������
��� �� ����� ���������'�
�� ����


�������������
���	���������	-�
���	����
��������9������

�
�

� � � � � � �� � � � �

�

�

� � � � � �� � �� � �
�

�

�� �

!��

!��

!��

!��

!��

�

� �
���� 
�� �
����	� 5���5��	� ����� 
�� 
��������� 
��� �A��
��� 
�� ���9����� �� �������� ��

��

���
���� 
�� �	������� 
�� ���	����	�������� ��	�� ��	���� ���� �������� ������� �� ���� ��

��
�	�5��
��
�
��
������	���������9�����������������������������������	�
������(��	��

�

[H!=L� c� [H=H� *�������� :��	�
��;+� 
���� �	���	���� L`D�� �� �������
�� ��	�� 	�����	�

�	�
�������
���5��
��
�
��
��(�	
�	���	���
����
������	�9����
����A��
���
�����9�����

[6�c�[H=�
�����	���	����
��D`DW�����������
����	��	�����	���/��
��
���A��
���



�

� � � � �HD

7[L=[�c�[H=H� c�[H=�
�����	���	����
��D`D`N�� 
����� ������ 	�������������������

�	(A
��������������
��(	����1I���111I�*'����(��V
��'
+��

['�� c� [H=H� c� [H=� 
���� �	���	���� 
�� D`D`N�� 
����� ������ � 	���	�� 9�
�� ������
��� ��

��
	/������
��6�cG����cG��$(cG��

�

=�� 	��(�
���� ���	�(�
��� 
����� �	������� 
�� �������� 
����� ��	� 
�� ����� (	��� 
��

��	����*(	���'$=!+����������?���
�������	�������
��������5��	�������������5����
�����

RW '� �������������5��
��� *��	5������ ����
����5��� ��	����������
��� �������
���������	�

������+�� ��� �A��
��� 
����� ��	���	(����
��� ��	� DW���
����� ��� ��
�� �������� ������� 
��

��(�

�� ������ *[6� c�[H=� 2� D`DW� 2� GW� ��(�

��+� �� �
���� 
�� �����	� 
�� ���� �������� ��	��

���	������A��
��
������	�����
�����-(�����1��*
���
���
�+���		�
�����	�G���
�������
������


����	� ��� �A��
�����	������G���
�����
�
�	��
����5��	� ����-(������� ����
�� �����������

�A��
���
�������	�����������
��	�(#
�����(��	
�
������	������
�������������	��	��
����	��

���	�
���	����

�

��	�� ��
��� ��� 
������?��� ��	��� �������
��� �A��
��� 
�� ���9����� ���� L;� 
��


�A���	��� 
�� ����� 
�� ���� �	��
������ lDWWm�� 3����� �A��
��� ��	��� �����
��� ��� 5���	��

5��	����� �
���� 
��� 
��������� ��	��� �������
��� ��� ������� 
�� �������� 
��� �������� T�

����	��
�������	�	�5����
����
���
����	����	�������
��
���������
�������������������
����

�	�������
������������
	���
����A��
�������(����/�����������	��������
����
��
�����	����


������������	�� 	�
���	��� �
��	��	�����
����
����
�
��������	�9�������	���
��
����
�������

*���� �������������+�� �

�� ���-� �
�����
�� �� �������� 3')@'>��� ���	�� ��� ����	�9����� 
��

�����	������ �

�� ��	��� 
�������
��� ��� �������� 3����� ��	�9������ ����	�������� ��
��� �����	�


��������
��� �������� ����������������
���
�	#
��������5��
�����	�����* ��f��

��

�
��	����� ��� ���	���	��� �����2!�� 
�� �������� 
�� \=[� ��	�� ��		������ ������ ��	������


�	�����
���������	�������	����	�� ����	�����
�������������	����6�(�	��G�R�� ��	
�

�@���

5��
	�
����C����������	���
����		�������������������
���
������5��
	�
����3�����������


�����	���	���
�����������
�����	������	�����	���	���
����������	�
��������
�������������

��	����� ���� ����� 
�	����� ��	�� �� ��		����� 
�� !�� �� 
�� ������ ��� 	�(���� 
��� 
���.�
����



� � �HH

��
���������
���������	���	���(	���
�����
�������	���������5���DW���
�������������?���


�� \=[�� ��	� ������ 
������ ��	������
��� ��	��� ��	
�
��� ��� 
���� �	����	��� 	�
�
��� ��	��

����
���� 
�� ���	���	��� �����
���� ���� !��7&� ���	�� !��� C���

�@��� �	�����?��� ����`�

	���	�
�� 
��� �A��
���� ��/�� �������� 
�� ������� 5�9����� *���� ������� DWW+�� ��� ������ 
��

�	�
���	��� ������ *�����	��� ������
��� 
�
�	�� 
�� ������� 
�� 5��� ��	� ���� ����� ����

������
�� 
�
�	��
��������
������������+����(��
��
����		�(���
���5��������
�����
���
��@

�A��	��
����������3')���

������������������
��

������A��
����	������	�������	�
�����


������ 
�������� ���� 
	-������� ���� 
��9���� 
�������� ��� �
-����� 
�� ���	�������� /������� ���

�
-������ !3$� 
��� ���	���	��� �����
����� 5��� ��	��� ����	�
��� �����	��	��
���� ��
���

��
��	��	������	�
�����
��
���������

�

� �

�

�

� C�
�������������*!�=���!��7&���!�=�7&+���	�������
�����������
����3')@'>���7��


���������
������������	�3')@'>�������
�����������	�(����������
��
�������	����*�A��	��


�� ������� 	�����+�� �� �������
�� ��� (����� 
�� 
��	�(#
��� *7H+� �2��� ���(#
��� *=H+� �� 
��

�	(8
���*�	+�*
���

�

��
������������	�
�������
�+����

���

���

�
���
������
��*!�[L+��

5������
����
�
��B������	���	/�����
�������	����*�A��	��
���	������+��=��(�����7H��=H���

!�[L�������
����
��
��	�(#
�������(#
��������9�����	�����������
����=�(-������
��*!�[L�@�Hj+�

�������
�� 
��� �	�������� 
�� 
��������� ���-� 
���9
�� ���(-�� �	(8
��� *�	�]�URj+��� ��
������

�	����������	����������
���������������	���	��
����	��@�����	��
��HW '��



�

� � � � �HG

�

��� 
������?��� 
�� 
��	���� 
�� ���9���� ��	� �	������� 3')@'>�� ���� 
���
�
�� ��� 
����

������`�

D�������`�����������
��!��7&���	��

����������
��7H��

H�������`�����������
��!��7&���	��

�������#
����
��)6��

�

��	�� 
�� 
��������� 
�� !��7&� ���� �������
�� ��� ��(��
���� ��	A���	��� 
�� �	�������

����	�
���
��C������G�D`�



� � �HL

�

��� 
������?��� 
�� /��
�� 
�� ���9���� ��	� �	������� 3')@'>�� ���� 
���
�
�� ��� 
����

������`�

�

D�������`�����������
��!�=����	��

����������
��=H��

H�������`�����������
��!�=����	��

�����	�������

�

��	�� �� 
��������� 
�� !�=�� ���� �������
�� ��� ��(��
���� ��	A���	��� 
�� �	�������

����	�
���
��C������G�H`�



�

� � � � �HN

�

�

���
������?���
�����
��	����
�����9������	��	�������3')@'>�������������
�����

����<
�������������	��

�@�������������
��=H���7H����
��

�@�����������LW���������������

������
���	c7Hc=H��

��	��
���������
��!�=�7&������������
�������(��
������	A���	���
���	�������

����	�
���
��C������G�G`�

�

�



� � �HX

�
����
��	������	������	��	��
����������I[6������	������
�����	�������
������(	�����

*�
����[+��3����
�����������	�����	���������
�������		���������3�����	�������
������������


������		�������
������	��������
����������
�����
�	���
��*�
�	��LWj���NWj�
�����
�
�+��

��	��5���������		���������
��
���������	��	��
�
�������	��5�����
������������	��
�	#
����

��������	����
�����9������

�
����
������������
������		�����������A��
�����	����	���
�����	������
�������������

*DWW '�2�DN���
�+���	��5�����.��	���	�
����
�������
�
��
������	�9����
���A��
�������A��
���

	���	�
���
�������������	���	��
����������	���	�������
������	���/�
���������	���������
���


�� �

� '���� ��	-� ������
��� 	������
���� �� �����
�� ��		�����
�� ��(�
�� �������
��
��	����
��

���9���� ���I[6� �����������������
�	�5���NW�
�2��
����5���
��������� �� ���	��	��
��������

7���������������������@�������		������������	��������)13�
������
��	������5�����	���
��	���

����� ����� 
�� ��		����� ���������	� 5��� DWW� 
�2��
�� 3�� �	�������� 
�� ��		����� ��	�)13� ��

����		�����������	��������
�������V�NHDL3����	���	�������9��	����	��	��
����������	�������


����		�����aGPb��7������	����������*/��
��
�����9���������
��	�����
�����9���+�������		�������


�������
�������V�DGNW���5�����	������
���B���������I[6���	����������
������HW���
�������

������������
������		������������	������
����	���� ������	�������
�� �

�����������
�������
�����������	������������(��
������	����	9�������
��C������G�L��

�

PWWW� LWWW�

LW� LW�

3
�	��LW���NWj� 3
�	��LW���NWj�

3������2�UH '�2�GW���
�� ������5��
��2DDR '2�H���
��



�

� � � � �HP

7�� �	������� 
�� ����(	�������� ��(�� ��/�� �� ���������� 
�� ����		�������� ���� �������
��

���� �������
��
�	��'�	��!����$I�G�
���	/�	���''!���������� ������
���������DWWW������

���
�
����
�	���
��
��NNj��������������	�����7�����������
���	����������������������	����


������		�����������-���	���������
��
������	�������������
��	�9
�����	�����
������	�������
��

���	�������/��������������

���5������
����
����
9�����
��''!2471'�$��aDHb��=���&����

�	�
������
���-���	���������
��������	�
��
��6�(�	��G�H�����������
���
�?����������
��GXWW�

��GXWW� �H��

6�	����	�.���
������	���	���
��
���	�
����(�����	�������	������
�����	������������
��

��		����� �
����	/����� ��� �������� 
��\=[���	�� ��� �-	���� 
�	��?��� �	������(	-�������7�����

�	�������������������
���� ������
���������	���	��`� �+� ������	���	����������
����	��� ����	��	���

��5��	
�� 
�� �-���	�� *6�(�	�� G�G+�� 5��� ���� ��
����� 5��� ����	��� �������
��� �����
�����

�
���
�
��� 
�� LN �� ����� �� ����� 
�� ��		����� ��	�� A
(������	/������
��LN � �� 	���������
���

(	�

�� *����	� 5��� D �2��
+� aDHb�� ��+� 
�� ��	��� �
��	��	� 
�	����� 
�� �-���	�� *6�(�	�� G�G+��

���������@��� ��� ����	�
��� 5��� ����	��� �������
��� �����
����� 
���
�� ��� �������
���
���


��� �	����� 
�� �����
������ aL�DHb�� ��� 
���
�?��� 
������ 
���� ���	���	��� *��
���� ��

����	�
���� 	�����������
��+�� 5��� ������ ��
��
��� 
���-���	��� ���� ��	���
��
���
��6�(�	��

G�L��

�



� � �HR

��
���������	��	�
��6�(�	��G�G�5������������������
����	#������
����
���	�
����
��

���	���	�����	�������
����������	�
������	�������
����� ���������
���
�?���
��DWW���DWW�

�H��HWW���HWW� �H���GWW���GWW� �H����	���������	�
���� ���������
���
�?���
��DNW���

DNW� �H��HNW���HNW� �H���LWW���LWW� �H�aDHb��

�

�

�

�
� 7����� �
��	�����
����� �	�������
����� ����
�	���� ��������
�� ��		�����
������	���	����

���� ���� ����	� ���	���	��� *��
���� �� ����	�
��+� �����
����� �� ��	�����	� �� �����	����
���

*	�����#
���+�
����������
�������
������	��!��
�	�
�������		��������\=[��



�

� � � � �HU

� ��	�� ��� ����		�������� �������
��� 
����� �	������� ��� ������� 
�� ���������� ��	���

�.����
���
�����	
��������C������G�N��

��/��������������B��������	�@������������	/���������������	���������
������		��������

1
�������
�������������	�����
�	�����	���	�
���������

�@�����	�����
�	�$16@GDH���-(����1�


�����	���	����
�������	������7������	����������	����������
���NW����
��	�����
�	���NW�

��� 
�� -(���� ������
��� 
��� 	������
��� 
�� ��-������� �

�� ��� �A��
��� ��	��� 	�����
���� ���

�A��
��� ���� ������
��� 
�� �������� 	�����
�	�� ��	� ��� ������ 
�� GW� ��(�

���� ���� �
����

	���	�
��������
������-(����1������������(-��
��	�(#
����'�������������
��������	���/����

/������� ���� ����	�� 
�� ���� ��	
�� *��	�� 
��� ��
��������	� �� ����		������+� �� ��	�����
�� ��� ��

	���������������������
�
��������.����������������(	������	�
���	�����		�����
�������
	���
��

�-���	�� ��	�� �� ����		�������� ���� 	��9
���� �� 
���	���?��� 
��� ���	���	��� 	�����
���� '����


�(������ ��� �����	��� ���� 
�����
��� �
��	�
��� 
�� 	�����
�	� ��	������ DW� ��(�

��� �� ����


���� �
-����� �� ������� ��� �����	��� ����

�� �������
��� 	�����
��� ���� �
����
��
��� ��	�� ��

�	�������
�� ���

� ����

�

��
�� ����		������� �������
�� �� �	������� 
�� � �� �������
��
������

��	���� 7�� C������ G�X� ���� ����	�
��� ��� ��	A���	��� 
�� � ��	�� ��
�� ����� 
��

����		��������������
���

�

3������2�DDW '�2�GW���
�� ������5��
���2�DDR '�2�D���
��



� � �GW

����		����� �����������.�������	�
������B����	��	��
���������
���
�	����	���	�������

��.��� ��/�� �� ����(	�������� 	���	�	� ��� ��	���� 
��� ������� *!�=��� !��7&� ��� !�=�7&+� 
���

�	���(�
�������� ����		��������=� �������������� �� ��		�9
����	�����<��
�� ��� ���������������

����		������� 
���� ��	� 	������
��� ��� �	������� 
�� ��		������ 5��� ��	� ���� ���� 
���� ��	���
��	�

��(������������
�
�����	���������������	����
�����9���������

�

��
�����
����
����		�����

������
����
���������	�������		�����
�����������	/��������
��������
����	/�������
��	���

����	�
��
��6�(�	��G�N��

�

�

��
���
�@��� ��� �	������� 
�� ����	/����� 5��

�� �� ��		����� ���		�� 
�� ������

������
�
�� 
��� 
�	��?��� ��	������ �� ����	���� �
5��
��� 5���� ��� ��� �	������� �
����	/������ ��

��		�������	���������		����(
�����������
��������	-��
��5�������		���������	�����	�
���

�@

��� ��� ��	���� ��	������ *6�(�	�� G�N*�++�� =�� �	�������� 
�� ��		����� <��
�� ���� ��������
���

����	/������ *6�(�	�� G�N*�++� �� 
�� (	�

�� ��������
�
��� 5��� �� 
���
�
�� ����� ��

�� �� 	�����

�
�	�����������
����		��?���
�������	������
�����������������?������������		��?���<��
���
��

!�� ��� �����?��� 
�� \=[� ��� 
�� C$�[� * +�� 5��� ����

�
����	/�������	�������

������	��
���?����	������
���������	����	9�������
����		�����
��!�����

\=[���	���
������
���
�������G�P��

�



�

� � � � �GD

4������@��� ��		����� �
����	/������ 5��

�� ��� 
���.�� ����	� ���	���	��� ��5��
��� *����


���
�?��� � G� �+� ��	�� �� ���	������� 
�� ��	������� �
��(	�
���� ��	�� ������ ���(�@��� ��


���
�������
���
���	��������
����		������������	����������	�����������	�����	��������
��

��		����� <��
��� =� �	������� 
�� ��		����� ����� ��	����� �	�
���	� �� �	�
���	#
���� ����� 
��

��
	?��� ��� ������� 
���
�� ��� 
�	����
���
��� *��
�	���
�� ����� 
����	(�� ����	���� *������

����	���+�� ��	� �	/����� ����� ���	�� ������� )13+� 
��� ��������� 	�������� ��� 	������� ���

�����	����� ��	����� ����	� ��	���� �
����	/������ �� 
�� (	�

�� ��������
�
�� 
�� ��		����� �
�	��

�����	�������������
���

�

����	�
�������
����
�������	��(�������5����	������
������9��	��

���	�������	���	����		�9
���	�
���

�����
����������
����		������	�����������
���

�
����
���
����	�������	�����������A��
������	�������	�����
�����	����������
��
��

� ��� �� 5��� ���� ��	� ��
���
�
�� 	���	�	� ��
�� �� �����
��� �� 
�
������	�

����		����������5�������
�������	�����#
����B���		������

� =�I[6� �� ������
�� ������ 	������
�����-������ �� ��� �A��
��� ������	(����
���
�����

���������3��������
��
����		����������������
����	�����	��	��
�����������	����	�����	��������


����		�����
����������
�����������������	��
���	��
�	�����	���
�
��
����������aRb��

��	����	�����	��� �����
����		�����
���
������ ����������� �A��
��� ��	��� �
��	�
���
��

��������I[6���	� ��� �������	�� 
���	��
�
��� ����5��� ��.�� 	���	�
�� ��
�� �� ������ *6�(�	��

G�X*�++����/������������������A��
�������	���	�
���������
������
������
������-(����1���	��

��� 	���	�	� ��
�� ��[6� 	����
����������� 
�� 	���	�
�� ��
�� ��[6�� �� ����		������� �� 	���	�
�� ��	�

�������� �	(A
����� ��

�� ��� �A��
��� ��	(����
��� ��� ������� ��5h�
������ 
�� �����
��� 5���

	���	�� �� ����		�������� �� -������ ����	��9������ 5��� 	���	�� �� �����
��� '�
�� ������ �� �������
��


�	�
���DW���
�������������������RW�'����/����������������-�����������A��
�����������
���

���-(����1��� ��������� .����
��
��	�(#
������/��������
����
��
�����	���� 	����������
���

��
�
�����	�������	�����*�
�����+�����5��������
��������	��
�����	���	��(	���
��
���������

��� ����	� 
�� ����	�� (	���
�� ����� ������ �	�@
���	��
�
��� �����@��� �� ����� 
�� ��		����� 
��

������ ��� I[6�� 7����� ������ 
�� �
-����� 
�� ����� 
�� ��		������ �������@��� �� ����		������� �V�

DGNW��� 5��� ���� ���
��� (���.�
�� ���	�� ��� �����	���� ��	��

�� ��5��
��� ��
���� 
��

����		����������	����������	��������������������	�������������
���
�����������������	���	��



� � �GH


�� DWW '� ��	� GW� ��
������ ��	�� �� �
�	#
����� �� 	���	�
�� 
�� �����
��� 
�� ����		�������

*
�
���������+�� (�	�
��

�� ��������	� 	�����#
���� 
�� ������ ��	� ��� ��
(�� ������ *����	�

5���DW���
����+����	����
����������
����		�����I[6���

��	��	������	������	��	��
�����������(�@�����	���	�
��
����
����������
�������
��
������

*6�(�	�� G�X*�++��>�	�����@��� 5��� �� ������ ���-� �������
��� 	�����
�� 5��

�� ������ -	���� 
���

�A��
��� *���� 	������� 
�� �	������+�� ��	���
��	��@��� �������
��� ������ 5��

�� 	���	�
��� 
��

�������� I[6�� '���� �� ���9���� ���� �� ������ �� ��
	��/������ 
���� ��	���	� ������ f��

��

	�����
����
��������������A��
��
���
������	��
���	������
��������������������
���

��

��	� ����
�� ��� -(��� �1� ��		�
��� �� ����� ���� 
��	�(#
��� ��	��� !�� ��� �A��
��� 
��� ��	���

	���	�
��� 
�� ������ ��		���� 
�� �������� 
�� I[6�� �� ����		������� ��
�	-� 
����	� 
�� �������� ��

���������
�	-� ���		�	� ���� ��		����� ����	��� 
�� ������ *�
�	�� �� ����		������� �� �����	���� 
��

���9���+�� 
���	��

�� *������

�� ����	����
��+� ��� ���	���	��� (	���
��� 
��� �A��
����

�����	��	��
���*��/�������	��	��
�������+��������		���������	���	�
����	����������	(A
���������

�A��
�������
������-(����1������������.����
��
��	�(#
����

�

�

����		���������������������
��(�
�`���	�
�����
����
����������
����
�������
��

	������� 
�� 	��9
���� 
�� (	�

�� 5��
��
�
�� 
�� -��
��� �� �����
���� �������
��� 
�� ��		�����

<��
���3�������	�����B���		�����<��
������	�������
����		������������������������5��
��



�

� � � � �GG

5��
��
�
��
���	�
�����5�9�������I�������
��������
������
����		������������
�
�������

��

�`� ���� 
����	(�� ����	���� ��� ������ �	������ 5��� �	�
��� ��� ��������� 	�������� *-�������

	�
��������9�
�+�
������
���	��
�
�������	��(������*��
��

�����
���(������
�	��������
���

��	�� �������������� �� ����
��� 
�� 
����������� 
��� -������ �2��� ���������� 
�� ������+��

(�	�

�����������5���	��(���5��������
�������������	��������	���		�9
������.���	�
����
��

	����������������	������		�9
�������-�����=���	��������
����		���������������������
������

����
������5�9��������	������		�����
������	���� *6�(�	��G�P+�����
�@�������-@������������

�������aDWb`�

�

������������	������������(�	�
���
����������

������ ��������� ���� 
���

�
��� ��� 
�	����� B� ����	�9���� 
�� ����	���� 5��� ���-� ��

��

��		�9
���

�����������������
��	��
���
������	�9����

���
���������	������5�9��������	��

������	�
�������-����

���	�
�������-������
����	��
��
������	�9����

������������
����	��
������
���

���
���������������	���	�
��������������
��(-��

�



� � �GL

�

� �� ��		�����)13� * +� �� ����
��� ���
����� 
�� ��		����� ����������

�������
����=�	����	�
����		�������	��������)13������	����	�
�����������	�������*����	�
���

��	������+� �� ��
��� 
�	�(�	� 9�
�� �
�	(������� ��� 
�	����� B� ����	�9���� 
�� ����	���� �� ��	�

��		�9
��� ����

������5��� ��.��������	�
��������
���	�
���
������
�����������
��� �
�	����

���������������	�9����
������	�
����������
��5h#
�������������9��������5�9��������
��	����

����		������3�������������
������	�
�����	���������������	�
����#������	������
�	@��	����	�

����
�����	�
������������
������
������
���
���	�
�����,�	����
�������
�������	�
�����

��
����
�� �� ���� ��
��� 
��)6� *��������
��� 
�� DG�NX�$[�+�� �������	�� ����	�
���� ���		�
��

.�
����
������������	�
���
���A��	�����	��

��������������������	������

�

�

�

��� �����	��� ��
��� ��	� ������
��� ��� 5���5��	� ��� 
��� ����	�
���� !�� ��� �����	���

��	���������
���
������	�
�����		�
�� *����	�
������	+� *��	�6�(�	��G�R�*�++���������������-�

���	�

�� 
�� ��
���
�
�� ��		����� ��	� ������� * +� �� ��� ��� �����	��� ����



�

� � � � �GN

������
���
�	�����
���
������	�
����
����
��B���
���
��)6�*����	�
����
�	+���������������-�

���	�

��
����
���
�
����		����� �8
����	�������*)13�]� +�*��	�6�(�	��

G�R�*�++�����5�����������	�����������.����������������	
����
���
��9�
��
��������
�	(����

����	� 5��� 
�� ��
�� 
�� ��		����� ��	� �������� 
���
�� ���� (	�

��� ����
������ 
�(�������

����������
��� ���	�� �� ����	�
�� ��
����
�� B� ��
���� �����	�
�� ���� �� ����	�
�� ���		�
��

*6�(�	��G�R+������
���
��)6��������
����������5����������	�
�����	�����������������
�������

��� ���������� 
�� (-��� �

���

�� ��� ������� �����
�-���� *��� ����	�
�� (�
���� �
�	(���

�������
���
�	�
���������������������������
��)6���	�������	���
������+��

�

�

��	�� �������	� �� ����
�� 
�� ��		����� 
����� ��	� ����
��� ��� ��
��
�	����� ���

��(��
����	�5��������aDHb`�

�

C�������
�
���

C����
����		������

C�����(���
���.�
��
������	�9������		�9
���

'����������
�
�������	��������
��'1g���

!�������
�
��
����		������

$���	����
���-���	�����������	��
���-���	���

6�����
�
��
����
�������

�

��	����		������
����	/�����<��
��
��!����� ��������������������
������\=[�
���9
��

���-(����!��������
����		�������	�\=[���������

���������������
�����	����

�	���5�����

��
������ 	�5����������
���
�
����
��	��	��
����������	�
����
��(���
�� �	������	�������

�������� 
�� \=[� �� �� 
��� �����������
�
�� ���� �	�������� 
�� ���	������� 
�� ��	������

�
��(	�
��� *'1g�+� ���� ���
���(���'$=!���	�
�������
���� 
���
��B� ��
����
����������
��

������9�
��������
���
���/��
���
��!�����
���
����	���
����	�
�����	���$=!�*

+��3�����	���������
����	��������
�
���	���(�

�@�������	�������	8
��������

������� 
�� 
��	���� 
�� !��� 5��� ���� 	������
���� B� �������� 
�� \=[� �� ��
���
��� ����� ����

��		��	����
�	����
�������
������9�
��aDHb��



� � �GX

��	�� 	������	�����		�����
�����9���������������
��\=[�
�����	�������
�����	���	���

�����
�������	��������
����	�������
�����
�	��?����	������(	-������
������	������
�����	���	��

�<��������������������
���	������
��!��*6�(�	��G�U+���

�

�

�

7��6�(�	��G�DW����������	�
���������
�����
�	��?����	������(	-������
������	������
��

���	���	�� �<����� aDHb�� �� ��5��	
�� 
�� 6�(�	�� G�DW� �� ����	�
�� �������� 
�� 
�	��?���

�	������(	-����������
�	������	#�����(�
��5�������	������������
�����
����	������(	-�������

�

�



�

� � � � �GP

4����-���	����
����
�������	��-�������������
����	����	�����	��������
����		�����

��	�����
���	�����	��
���?����	������(	-������aDHb��=�������	����
�����9������
������
���
��

��		�����
�����9�������`���	��������
���*DDD+� �����������
�	���������
����		��������	�����

���
��� *DDW+� �� *DWW+� ������ �
��	��
��	���� �� ��	�� ��� ���
��� *GDD+� ��� ����	��� ������ 
��

��		�����aDHb��

����		�����
�����9�������\=[���
�
������� 	������
������	�9����
�����9�����������

9�
�� =[@� *��
	�����+�� ��� ������� 
�� ��		����� 
�� !�� ��� \=[� ��
��� ��	� ����	��
��� �����

��(��
���	������aL�DHb`�

�

!��c�H=[@� �!��*=[+cHH�c�H�
@�

!��*=[+cHH�c�H=[� �!�*=[+L�c�H�
@�

!�*=[+L�c�L�
@�c�L[H=� �!��*=[+

cH
X�c�H[H��

�����

���!��c�H=[@�c�L�[H=� �!��*=[+
@H
X�c�H[H�

�

� 1
�������
���� 
���@��� �	���	�	� �� �������������� ��
��
�	�����
���.�
���4����������

������
��
�	�����
��DW$�
�������������5�����	���������	����������
����		�����
����	������

*�	���

�
�
�+�
���	
���
��NWW�
�2��
���	�(���
�
��
���	
���
��DRW�
���
������	�9����


�����9����aDHb���	����������	�
��
��!�������������	��
��GW����=����.������������	�
��

	�(���
�
��	��	���
�����
���
��D�j�
���������	��
������	�
�����5��������������
�����	��

���	�������
����
��	���
���	����������

����������	�
��
��!�������������	����	9��������	��

��	�������
���������
�����
��	��=��(	����
��\=[���������
����������	�
������-(����1�

*DR$ +� ��	�� ��� ����	� ���� �	���	���� �
�5��
��� ��	�� ����� �� 
�����-	��� �	����	���
���

��
����	���5��
��
�
��
��(	��������	��������
��
�������	���	��������5���������������	��	�
��


���	��
�����
����������������	����
��	���
���	�����������aDHb��

�

�+� 
���	��
�����
������������	�
��\=[`�

2D�NX

W�D

W�DX

D�GU

+*
+*

�

�



� � �GR

�+� 
���	��
�����
��5��
��
�
��
��\=[`�

'�
����

�@����
����������������	�
��\=[�*������+����
���������	���5��
��
�
������

(	������
��(	����
��\=[�5���
�������	�
�������
������������	��
��-(�����������

�@������

�5���?���������`�

NXD

D�NXDW
2D�NX

DW

DW
D

2DW

�

�

� ������� 
�� �������� �	���	�
��� ��� �����	��� ��	��� ��		�9
��� ��� ���� ��
��(���

����	���
������
��	���6�(�	��G�DD��

�

� �



�

� � � � �GU

3��������	���
��� ���� 	������
���5����

������������
��\=[�������������	���	��


���.�
�� *�
�	�� PWi'� �� PNi'+� ��	�� ����	���� ���� ����	�9����� ��/�� �� ��		������ �
���	��� ��

����������	�(���
�
���!��
���
��	�����������������	���	����
���������	���������	�9����

������ 	�(���� �� ��� ����
��	���� ������ �� �����	���	�� *������ 
�� RNi'+� ��
�� �����	� ��

����
��� 
�� �����	����� 
�� �����
���� �� 
��� (	�
��
���� 
�� �����	���	�� 
�� ��������� 3����

��
�	����
�������	���	������������	������	�8���	�����
���������	��	�
�	�
������	�������


����		�������� ����	�����
����5��
����������5�����
�����	�����������

��
������	�9����
��

�A��
��� 3����� ��5��
��� ������� ��� 
���� �� ����	����� 
�� ��
	�(#
��� 
�	�
��� �� ��		������ ��

����
�� ��� 
���� �	�
���	��� 
�� �������� ���� �� ����	�9���� 
�� ���9���� ��	
�

�� ������ ����

����	�9����	�(�������	�����	�	�������	������������(���
�	���������
��
�
�	��
����������
��

\=[���	�� ��������	� �� �	�
���	���
��������
�� ���9���� ��		�9
��
�������	�������(�
����	���

�������������	��	���	�	�����������
����
	�(#
���5��������	����
������	�9����
���A��
���3����

�(���
�	�������
�
����	������
�	����
��������
�
��������
���
��������5��
���* +�5���

����
�����������	��������

� ��
�	��
��	������
���5�����
��������������
��\=[����������
�������	��������	���

�����������

������A��
�����������
����������������	���
��������������	�9��������	���		�9
��

��	�
�����	��������7����	�������	��	�
��	������
�����������
�������

�
��
�	��5���������

��
���
�
��
�������	��������	�����
����������
��\=[������	�

����������
��
�	������
�������

7����� ��

�
��
�	� ������ ��� ������ 
�� -(��� �	��� ��	�� 5��� �� ����	� 
��\=[� ��

�
��� 
��

����	�9�����	���
����

�
��
�	���	���	
����	�������������

3�� ��
�� �	������� 
�� ��		����� ���� �������
�� NWW��� 
�� �������� �� �� 	������
���

�������
�� *��5��	+� ���� �� ������
�
�� ��	�� D� ���	�� 
�� ���������'���NWW��� 
�� �������� �� ��

�������
�����	�����	�	�����A��
�����
�������	�	������������6�	����	������
�����������A��
���

��	� ����� ���� �� �	���������� 
�� �����	� ������� �� ����	����� 
�� ��������� �	�.�
���

�� ��

�	������������	��
��������������
��XW���
�����������������	������	���������������
��

\=[����	�����	���	�������	���	��������
�����

��� ��
��� 
�� ��
�� ��		������ ��� �A��
��� ��	��� ����
��� ��� -(��� �1� DR$ �� 
������

����
������-����������	��9�������	������(���
��-(���������������	���.����
��
��	�(#
����5���

��
��
�
�����	�������	���	��������
������	��
������	����
�����	�������(�������A��
�����	���

������
��� ���	�� ��������5��
�����	�D���
� ���DWW�'��C�
��������	�������
�� ��		����� ����

�������
����������������5�9��������������������	��	��
���



� � �LW

� >�	��������� ������� �� ����� 
�� ��		����� 
�� �����	���� 
�� ���9����� �������

�� ��

���	���/����/���������/��������
����
������	���	��������
�������������	�����	���������
���

���������	���/����/��������

����
��������	���

�
�
��
������	����5���������		�9
��*!�+��

4��� 	������� �
�	�� �� ���	��	�� �� �� �	���

�
�
�� 
�� ����� �� ����
�� ��� ��
���� 
��� ��	�
���

��	��
��� 
�� ��		������3����� ��	�
��� ��	����A
(�����
��NL�PL � ���� 	�������������
��
��

����	�9����������������6�(�	��G�DH�������5������	���

�
�
��
�������*V+���
�
����	�aLb`�

�

�

�

PWP�WWPL�NL
H

W

H

W
PL�NL �

��	����		�����
��!�������������
��\=[�*DW$��������	���	��
����	�����
���
���

PW '+����������������
����		�����
��!��
��XWW
�2��
��

���	����	�����	�����������	����
���
����������*!��7&��!�=����!�=�7&+������������


��\=[�� ����������� ���� ��5��
�� �����	�� 
�� ��
�� ������ �� 
�������� ��	� ��� ������ �	��

����������
��
����������*DW$�2��
�	��PW '���PN '�2�NWW��+���������
��	���	�
��
�����������

��� �����	��� ��	��� ����
��� ��� -(��� �1� DR$ �� 
������ ����
��� ��� -������ ����	��9����� ��

�������������

��.����
��
��	�(#
�����



�

� � � � �LD

��� ��
�
��� ���������	����� ��	��� 	������
��� ��	�� �� 
���	��
����� 
�� �������	�� ��

9

���� 
�� 	��	����� 
��� ������� 
�������
����4�������@��� ��� �5������
���)�
��������
����

����@30�71)�H� aGUb�� 5��������������� ��
���
�� ����	�[�@7��
������	���
���
���

��o�e�

XGH�R� 
�� �� 
�� A
(���� 
�� �
��
#
���� ePWi��=� �����8���	�� *�
����I+� ��	����� 
���	��
�	�

������������
��� ��� A
(�����p� �� q�� �� �������� �� �������	�� �� �� 9

���� 
�� 	��	����� *r+� 
���

���������	��
�����
����
���
����	�5���5��	���
�
�����	�����������	�	����5������
������	��

�
����	��������	��������
�@��������A��
����
	����������	���	��!�=
H
2!������5�����/��
��
��

���9���� ���� �������	�� 
�� DWW� 
�� �� r� e� D�LXH�� ��	�� �� �
������������ aGUb� 
�� �	�������� ��


�����-	��� �� ���
����
��� 
�� �������� /������ ����	���
�	2�
�����
�	� ���� �� �����	�� �� ��

�
�	�
����� 
�� ��	A���	��� 
�� �
�	�
��� ����� �������	�� 
�� �	
��� 
�� N� 
�� *����	� 5��� ��

����	�
�+� �� 9

���� 
�� 	��	����� 
�� !�=
H�

�� D�LX� �� 5���� �� ����
��� ��/�� ����� �����	�����

��
�����
�	��
����������
�
���
��������	������	������
��	������
����������	�������
�
���


��
�(	�����������@�����������8���	����
������%��%�X$�*�
�����+��

�

�

��������	����	���
������	����
���
�	�@��	���������������
����5�����	������
�����	�

��� ��(��?��� 5�9������ ������
���� ������������	������ ��(��?���
��� -������5��� ��	�������

���������� �������� �	�5h#
����� �����9������ 
�� ���	������ 5��� ��	���� 
�� ���	
�� ���� ��

���	���	����������������������
��
�����	�����aHX�GW�LWb���

��� �
-������ 
�� ����	���� 
�� �
�	�@��	������ 
��� ������� 
�� !��7&� �� !�=�� ��	���

�������
��� ��� ��� ������	8���	�� 
�� ����� 6C1)� * +�� ��
����

I1=@)���6C!@LW��3���� �5������
��� ��	����� 5��� �����
�
��� ��.��� �������
��� �������

�A��	�����������
����
�	���*
��	�(#
��+����
�

����������
�����	���
��������
����(��?���


�������������
��[
H
=���
��'=

H�
�	���
����
�������
����=��	����	���	���
���
�����	�����

��
�
��� 
�� ����	���� ���`� �������@��� ���� ��
�
�� 
�� ���� �A��
�� 
�� ���9����� ����

��	����	9��������
#
������*�	��
�������	��������
�
����
���(��+�B��
����A��
�����������������


��!��7&��!�=�� ��!�=�7&��3�����
-�����
����	���
�������	����
�� ���9������
���
�
���������



� � �LH

��
�
��
��	���	#
����* +����/����������@�������
�
��
���A��
�����������������=�

�5������
��� ����	��� ������������
��� 
�� ��
�
�� 	������
�� �� ��
�
�� 
�� 	���	#
����� 3����

����	�������	�����������
����
�����������	����	��
������	����
�����(��?���!�@=���!�@7�
��

������aHNb���

�

�

� $�
�
���
���
-�����
�����������
����	����	9���������	���	���
�������	�
�������
����

�����
���� �������
���� 	�����������
���� ��	� !3$� ��=3!� ��������
��� 
��� 
���������� 
��

���� �	���	����� �
�������$���	��� 
�������� ���	�� ������ ���
����� ��
��� ��	� ��	�����
��� 
���

�
�����6���,��	�����������
����



�

� � � � �LG

�

�

7��C������L�D���	���
���@�������
�
�������?���
��������	���
��!��7&����	A���	���
��

�	���������	�-�������������	�
�������
��� ��(��?���!�@7�����
�����	�6C1)���������	���� ������


��
����������9

�����
��	��	�������������
����		��������I[6���\=[�����6�(�	���L�D���L�H�

���� ����	�
��� ��� (	-������ 
��� 	������
��� ���������	����� 
��� ������� ���� �� ��	������ 
��

���#
����
��)6���������
��7H�	�����������
�����

�e�����W � RLN� LNW� DN� D�UN� DX� l�D�

D � RLD� LNW� DN� D�RU� DP� l�D�

G � RLN� LNW� DN� D�UH� HW� l�D�

N � RLN� GUW� DG� D�UG� DH� l�D�

DW � RLU� GUW� DG� H�WH� P� s�

�e����H�N����� RUW� GUW� DG� H�U� W�P� s�

N���� RNW� GUW� DG� D�UG� DD� l�D�

DW����� UWH� LRW� DX� D�RD� HGL� l�D�

HW����� UDW� LRW� DX� D�PP� LNL� l�D�

7�������G�G�������
���
�
��5���
���
��B��	���
���
���
��������
������	���	���������


�������
�2!��9����� 
���� ��		�
��� 
�� 
��������� 
�� !��7&� ��	��� �����
�
���� ������� 
��

�
�
������
�� �� 	������
�� �� �	������� *��.�� ����� G�G+�� ��� 
������?��� 
�� !��7&� ��	���



� � �LL

�������
������
�����������*D�������`�����������
��!��7&���	��

����������
��7H����H
�������`�

���������� 
�� !��7&� ��	��

�� �� ���#
���� 
�� )6+�� ��(��

�� ��� ��	A���	��� 
�� �	�������

����	�
���
�������G�G�D���C������G�D����	����
���������
����
������������������������
�����

�����������
��GW���
������

�

�

�

��
�������	�����	�*C������L�D���6�(�	��L�D+�
���	����	��������
��
���������
��!��7&�

5��`�����������	��������9

�����
��	��	�����
���!��7&�	�
���	���
��LNW�
����	��GUW�
����

����
��	���
��D�RU���	��H�WH����	�������B����#
����
��)6��	�����������
����7��	���������

9

�������
�	��� 5��� H�W� ���� ������� 	����� ��� 
��	�(#
���� ��	�� ��� 5��� ��	���
���� 9

�����

����	���5���H�W�������������	��������!��aRb����	��
�������������	��
����������#
����
��)6�


��DW �����	��������!�������	�����#
�������
�	�������(�������N ����������������	��������

7��	�(#
���� ��	�� ����� �	����	�� ������ 
�� 
������?���� ���������� ���� �
���	��
�
�� 
��

��	�����
���
��� UWj�
��� �������	��� 
��� �������
�������
��� ���D2L�
�� �A��
��
��!��
��

L;
��
�A���	����

7����(�

��������
��
������������
�������	�����	�*C������L�D���6�(�	��L�H+�5��`���

�������	������9

����
��	��	�����
���
��	���������
���*
��GUW�
����	��LRW�
�+���
���
���

*
��D�PP���	��H�U+�����������
���
��������
��7H��6��������	��
��������������
��H�N������



�

� � � � �LN

����	��������!����������	���
����9

���������	���5���H�W����	�������������	�������(�������N�

��������� ������� ���� 	����� ���7��	�(#
���� ����� ��	���
���� 9

����� �
�	��D�PP���D�RU����	��

����� ��(�

�� ������ 
��
������������������������
���	��
�
��
�� ��	�����
���
���UHj�


����������	���
����������
�������
������D2L�
���A��
��
��!��
��L;�
��
�A���	����

'����	�

�@��� ���6�(�	��� L�D� �� L�H�� 
�� ��	���(�	���� �-� ���� ��

#
���� 
�� 5��� ���

������� ����� 	����� ��� 
��	�(#
��� ��	���
��	��� ����	��� �������	���� �� ��	����	������� 
��

���������	��
-�����=3!���
��
����������	�
�����5��������

�

� ���
-�����6C1)�*C������L�D���6�(�	��L�G+������������
��*����	���������
��L���@D���

DX� ��		�
�	��� 
�� ������ 
�� 1)+� ��	�� ������	� ��� ��(��?��� 5�9������ �� ��	�� �
�����(�	� ��

�
��	��	�����
��[�
�������������6�(�	��L�G�*�+���	���
������������	���6C1)�
����������
��


��	����
�������
����������#
����
��)6�
��W��D��G��N���DW� ����6�(�	��L�G�*�+���	���
������

������	��� 6C1)� 
��� ������� 
�������
��� ���� ������� 
�� 7H� 
�� H�N�� N�� DW� �� HW� ������ ����

6�(�	���L�G�*�+��� *�+������������-������
������	����*	������
�
���������
���
�����	�����


�����(��?���!�@7+����		����
�	��RLD��@D���UHW���@D��=����������
����
��
����

���LPW���@D�������	������
�
���������
���
�����	����� 
��� ��(��?���!�@7�������



� � �LX


����������
-������ 	�����	������	���
���
������	�?������DDWW@DDPW���@D������GGLW@GGNW�

��@D�� 5��� ������ 	������
�
��� B�� ��(��?���7@[���7@[H� *��
��
�����	����� +� ��7@[�

*��
��
�����	����� +��	�����������
���������������
������	�?������HWWW@HGWW��@D�

���� 
���
��� B�� ��(��?��� !�@[��� ����
�� B�� ������� �
��
��
�
��� 
��� ������ 
�� ����	���� 
���

��(��?���7@[��7@[H���

�!�@[���
����	�������
��5�������
��
�	�����
��[�
���
��	���������

��
�	���5���DWHH���@G��

�

*�+�

*�+�



�

� � � � �LP

�

�

�

��������	���
����
-���������������	�����*9

����
��	��	����+���6C1)�*��������
�������

�	�
������	���	�
���B���(�����!�@7�*��
��
�����	����� ++�����	�
���
��C������L�D��

*�+�

*�+�



� � �LR

��
�@��� ������	� 5������������
��� ��� ��������?��� 
��� 
��	������ �� 6�(�	�� L�L� ����	�� ��

��	������ 
�� 9

���� 
�� 	��	����� ����� �������� 
�� ����� �	�
������ 	���	�
��� B� ��(����� !�@7�

*��
��
�����	����� +���	�����
��	�����
�������
���������	���?���
�����#
����)6�

*�+���
��������
��7H�*�+�����6�(�	��L�L*�+������	��@���5��`�����	������
�������
��!�@7����-�

�
�	��RLD���@D���RLU���@D����

��
���
�����
��������
����
�	��������
�����
���R��@D����

5���	��	���
���
������������	������������
��
�����
�
���6C1)��5�������
��L���@D����	��
����

���	���	����
��� ��� ������� ���� ������	���� ��
�@��� ��	�����	� 5��� �� 
��	���� 
�������
�� ����

DW 	��*�����	��7)6DW+�����������������	�������!����������	���
���9

����
��	��	��������

����������	�5���H�W����������	���
��	�����
�������
����������#
������
�	��W���N 	���������

����������� 	����� ��� 7�� ����� ��	���
���� 9

����� 
�� 	��	����� ��� ��������
�	� 5��� H�W��

��
��	��� .-� 
������
�� 
��� ��
�
��� ���������	������ ������� ����� ��(�	�� �

���� 5��� �������


�������
�����������	������#
�����
��)6����������	��������!��
��5������
�������
�������

������� ���#
����� *��
�	��� 5��� N 	�+�� ��	�
���@��� 5���� ��������	� ���#
���� ��� ������� ���

��	
�������� 
�
����� ����� ��� ��������� [� �� [H�� 5��� ���� ������ �� ���� ����� ������
�
��� ���

�
��	��	��� ��
��� 
��� ������� ��	��
���� 3�� �	�������
��� �
�	�� W� �� N�  	��� ���

���	���	��2��������?���
���
��	�����
�����	��	���������������	������������9

����������������

�������
�	��D�RU���D�UL�����
�	��RLD���@D���RLN���@D��	�����������
����1������
����	�
���
��

����.�����
��(�	�
�	�
��)6������������	���
���
���(�	�
�������.�����
���	������������	�
��

5��� 
�����#
�����-�����
��DHW� 	�����
�@�����	�����	�������	���������	�
�������
���

��	������������
�������
����
�	��W���D 	����������9

�����
��D�UL���D�RU�������������
��RLN�

��@D���RLD���@D��	�����������
����
�����(��

������

#
����
���	������������

���6�(�	��L�L*�+������	��@���5��`�����	������
�������
��!�@7����-��
�	��RNW���@D���

UDW���@D����
�

�@�����	�����	����
��������
����
�	��������
��XW��@D����5����

�����������

�������	���	���
���	�
�����������.�������
��	�������
��
�������(�	�����	�����@���5�����
��	����


�������
�� ������� ������
��H�N� �����
��7H� *������ 	���� ���!�+� ���-� ����������
��� ��	��


����� �.������ 1���� �

���

�� 5��� ������ 
��	����� *�����	��� 76H�N+� ��	���
����

���	���	�2���������������������
���
���	�
���
������	�������������	�����
��6�(�	��L�G�*�+��

���������	��������!����������	���
�����	��
���
�������
��!�@[�
��������	��6C1)���
����	�

��	�����
��
�����������	���76H�N��

�

�



�

� � � � �LU

�

�

�

�



� � �NW

7�� C������ L�D� �� 6�(�	�� L�N*�+�� ��	�����@��� 5��� ��� ������� 
�� !��7&� 
�������
���

��	��

�@��������#
����
��)6�*�����	���7)6W��7)6D��7)6G���7)6N+���	���
�������������


�� ��		����� ���I[6� �
�	�� DH
�2��
� �� HW
�2��
��3����� 
��	����� ���� ������� 	����� ���7��

��
��	����

������6�(�	��L�D�*��
�
������������	����+����	���������	��7)6DW����	�����@���

5��� �� ����� 
�� ��		����� ���I[6� �������� ������ *
�� P
�2��
+�� 3����� 
��	�����7)6DW� ����

�������	��������!��*6�(�	���L�D���L�L*�++����
��	��

����5���.-�����
������
���
��	��	��
����

� 7��C������L�D���6�(�	��L�N*�+����	���������5�����
��	�������
��������������
��7H�

�������
����		��������I[6��������������
��
���7�����������5�������������������
��H�N�

�����
��7H� *76H�N+������������������
����		��������I[6�������������*
��W�P
�2��
+��

1������
���
����(	�

���
��	��	�����
��!��
����������
�
������
��
���
-�����6C1)���9

����
��

	��	�����*
��H�U+��
�
������
����	����������	�����

'���� .-���
���
�
���
��	��	��
���
�� ���9�����
���	���
���
��� ����	���
��������

������� 
�� 
��	���� 
�� ���9���� �������� ������ ����� 
�� ��		����� ��� �������� 
�� I[6�� �� 5���


��������� �� ���	��	�� 
�� ����� ��� �������� 
��I[6�� ����� ��
�	-� ���		�	� ��		����� ����	��� �� ��


�������� 
�� ����		������� 
�� �������� 
�
�����

�� ��
�� �� ���	���	�� 5��� �	���

9����� ����	��

4�����������
������		������������	��������)13���	����		��	�����������
��
��	����
�����9����

�

����
���������	���������������
����		������=�����		�������������
�������V�NHDL3���	���	�

��	��	��
����������	�������
����		�����������=����	A���	���
���	�������)13�������
���	�����


��C������L�H��

!6X�2��	�

N�2�DW������

GW �

NW��C�		�

l�N��C�		�

� �

�

�



�

� � � � �ND

7��C������L�G���	����������������
����		�������	��	�������)13�
����������
��!��7&�


�������
����

�

�

DWW� HPW�

DWW� DNW�

DHW� DWW�

DLW� DDW�

DGW� �

��	����� 
��� 	������
��� 
�� ��		����� ��	� �������)13�
��� ������� 
��!��7&� ��
�����

��	�����	� 5��� ��� ������ 
�� ��		����� 
��� ������� 
�������
��� ���� ��	������ 
�� )6�

��	��
���	��� �	�������
��� ��
���
����� ����� ���� ������� ���	���	�2����������� ������	���

*��
��	���
������
���
��	��	��
��+����	����� �������
�������
���������	������
�� ������
��


��	�(#
�����������
����		��������)13�
��������76H�N�������������
�����	��������������	���

��������1������
��	�����
������	������
�������	�
����
��	��	��
��������
���
�������������	�

	�������!��* �mH�W+��3
�����5��
��������	�������!�������	���	-����������
����		�����
�����

�����������������)13�����������������
�����!6X��

� 7���C�������L�D���L�L������	������������
����		�������	������������
��
��	������/��

��	��� �������
��� B� ��		����� ��� �������� 
�� \=[� *DW$+� ��� ���� �����	���	�� 
��

��	�����
���
���PW '����������	���
��!��7&���	����
��	�
��������������
����
	/��
��
��

���-�����*\=[+���	����	�����	�������	�����#
����B���		�����
���������������'���� 	������
��


�� ��		����� ��� \=[� ��	��������� 5���� ��� ������� 5��� ���� ����� 	����� ��� ���9����� ���


�������
����������#
����
��DW 	��������������
��7H�
��H�N����������
��	�����7)6DW���

76H�N�� 	�����������
���� ��	���
��	��� ���� ����� 
�� ��		����� ����	� 5��� DWW� 
�2��
��

��	��
����������	�����#
�������\=[��3��GW���
�����
���	�������
�����������9������
�	�����



� � �NH

�����
��� �� ����� 
�� ��		������ ����� ��� ������� ��	��� �������
��� ��		�9
��� ����� ���������=��


��	����� 5��� ��������� 	����� ���
��	�(#
��� ��	���
��	������� �����
�� ��		�������
�	�5���

D
�2��
��

�

�

�

lD�

lD�

lD�

lD�

s�

s�

lD�

lD�

lD�

�

7��� 
������?��� 
��� ������� 
�� !��7&� ��� 5��� ���		��� �� ��	������ 
�� ������ 
�� 7H�

��	�����@���5�����9

����
��	��	�����*6�(�	��L�H+�������������
�������
��!�@7�*6�(�	��L�L�*�++�

	�
���������������
���
��������
��7H�����5�����	
�����
��	����������	��������7�* l�H�W+��

�����
��������	�����@���5�����	�����
���������	���6C1)�*6�(�	��L�G*�++�����������
��7@[����

GGLW@GGNW� ��@D�� 5��� ������ 	������
�
��� B�� ��(��?��� 7@[� *��
�� 
�� ���	����� +�

����
����������������
��7H����5�������
������
��	��	�����
��[�
�������������	
�

�@���

�������	������ 1��������
��	��
����	�����
�������	���
�� �����
����		��������I[6�*6�(�	��

L�N*�+� ��� 	������� ��� ������ 
�� 7H�� f��
��� ����	� �� ������� ����	� �� �� ����	� 
����� ������

�

���

����������	��
��	��	�����
��[������
��5��
����
��������	���	���
�
��
����������

	��������7����	��
������
������	������
���������
�����	
���7��C������L�N����	���
���@������

�����?��� 
��!�2�	��[ 2�	��72�	� ��7@[2�	� 
��� �
-������=3!� *�
����,+� 
�� �������� ����

�������
��7H�
��N��������DW�������7���@���5������		���	�
�����
��������?���
��!�2�	�
��D�

��	��W�UX���
��[ 2�	�
��D���	��W�RL��	�����������
������	����	����
�����������?���
��7H���



�

� � � � �NG

7@[�
��D���	��G�R���
��D���	��H�P��	�����������
��������
��	�������������
���
��������


��7H��1������
��	������	������
���
����
-������
�����������	����6C1)��I[6���\=[����������


���
������ 
�� 9

���� 
�� 	��	����� *���������	��+� �� �� ����
��� 
�� ��(��?��� 7@[� *�
-�����

6C1)+� 
��� ������� 	����� ���7� ���		��� 
���
�� B������	��� ��
��
�	��?��� 
��7H� �� 
��7@[�

*����	��
�����	�����
������
���
��������?���
��7H2�	���7@[2�	+�
�����������	�������	���

(�������	��������7��1������	
����
��	�����������	����*��	�����
���������		��������I[6+��3��

��
�	���	��
��� �� ����
��� 
�� �������� 
��!�2�	�
�� ������� ������ 	�
�����
�� ������
��7H��

����	����5�����
���
������
��������
��7H���	
������������������������������	��������!���

�

D� W�UX�

D� W�RL�

D� G�R�

D� H�P�

7��� ���� ����9���� ����	� ��� ��	����	9������� 
�� ������� ��	�� ��� ������� 
�� !��7&�


�������
���������	������
�����#
����
��)6�
���
��B���	��������	���������5��
��*
��W ���

DW +�������������5������		���
���������
������	�������
���������	����9������������

��
��

�
-�������	�=3!��

� =�� ������� 
�� !��7&� 
�������
��� ���� N � 
�� )6� �� ���� ������ 
�� N����� 
�� 7H�

�������� ������ ����� 
�� ��		����� ��� �������� 
��I[6� ��\=[�� ����� ��	����	9������ ��������

����	��
�����������
�����������-@�������������	�
�������
���������
�������
������������


��������������	�����	����A
�����*$3$!+���������-���	��
���	���������	��
������������

��.����������		��������\=[��>�	�����@���
���6�(�	���L�X���L�P��������(�
��
�����	��������

/������ �� ����	8
���� 
�� ��		�
�	�� *!3$+�� 	�����������
���� 
��� ���	���	��� �����
���� ��/��

��		����� ���\=[� *DW$� 2� PW '+� ����
��� ���������� �������=��	���
���
��� 
�� ���	�������


����������	�
���������	���
��
��
�����9�����G�������
��������	�����@���5����������	�9�����


��� 
��	����� 
��� ��	���
���� ��� � 5��� 
�
�����	��� 
���� ��		�
��� �
������� 
��


���������
��
��	�������
��	�������	�
��
���
9����
�����9�����G��



� � �NL

�

� �

�

� �

� �

3����������������������������������
�����������
��
���	�������
��
��������������

����� �-���	�� ��	�� 	������� 
�� �����	���� ����� ����� �����	��	� *

+� ��� �������� 
�� \=[� ��	�� ���	������� 
�� ��
��	��� 
�� �	������ *6�(�	��

L�R*�++��3����
��	��������
�������
��
�������������	��	���*�

������
��
�	������
�������������

����� ����`� 	������	���� ��������	���$=!�� 
��
��� �� �	�
�����	���$=!+� �� �
��	��	� *�

�� ����

�������
�� �� ��		����� 
�� !�� �������� ��� �������� 
�� \=[+� 
�� �A��
�� ���� ��� �����
����

*�����@$=!��������@	������	+���
��	���
���	�������7��6�(�	��L�R�*�+������	������������	���



�

� � � � �NN

������
�������
��	�
���	������*��
��������@	��������+����5���������	���(�
��������������
��


��	����
�����9�����7��6�(�	��L�R*�+������	��@���
����	����
��	��	�
����
��	�
���	�����������

��		����� �
����	/����� 
�� �����	���� 
�� !�� �������

�� �������� 
�� \=[�� =�� 	������
��� 
���

��
��	���
���	��������	��������	��	��
�����	���
��
������
���� �	��������5�����������

��

	������
���
��'�
�	��
��'����
�
����!�����

���	���*''!2471'�$�+��

�

� �

� =�� �������
��!��7&�
�������
�������������
��H�N������
��7H�����������9��������

����� 
�� ��		����� ��� �������� 
�� I[6�� 3���� ��	����	9������ �� ������ ����	��
���� ��	�� ��

���	������� 
�� ���	���	��� �����
���� 
�� ����	�9���� * +�� �������
�����

������-@���� ����� ����
��� 
�� ��������� �
�	�� �����	���� 
�� !�� �� �� ���	���	�� �����
��� 
�� !�@

�����	������
������������	������5h#
����
���������
��6�(�	��L�DL��

� �

7��C������L�X���	���
���@�������
�
�������?���
��������	���
��!�=�����	A���	���
��

�	���������	�-�������������	�
�������
��� ��(��?���!�@=�����
�����	�6C1)���������	���� ������


�� 
���������� 9

����� 
�� 	��	����� �� ������ 
�� ��		����� ���I[6� ��\=[�����6�(�	���L�U� ��

L�DW���������	�
������(	-������
���	������
������������	�����
������������������	������
��



� � �NX

�	��������������
��=H�	�����������
����=�������
��
�����������	����
�����������	�������
��

HW���
������

6������ 
�� !�=�� ����5������	����� ��� �	/������ ��	���
��	��� 9

���� 
�� 	��	����� 
��

D�LX��6����������9

��������	���5���D�LX�����	��������!���6����������9

�������
�	���5���

D�LX�����	��������=��'�
��	�������
���������	���������
������	�������*
��N�C�		���	��

GW�C�		+����	����������������
���
���������	��
��
�������������
��GHX
����	��NWX
���

��
��5h�
����
�����������
���
�������
��
����������=���	�������������5�������������


���
������
��9

����
��	��	�����
��D�LU�*	�������!�+���	��D�LN�*	�������=+�����������
���


�� �	������� ������� ��� ����
��	���� �� �	������ 
�� �	������� ����
������ �� 5��
��
�
�� 
��

���(#
����
��	��	�
��
�����������	��������	����	��������
��
�����������	��

�����	������
��

�	�������� ���������� ���� �
���	��
�
�� 
��� �������	��� 
��� /��
��� 
�� ��	�����
���
���

UNj�����D2L�
���A��
��
��L;�
��
�A���	����

�

����N�C�		� DWPX� GHX� DXG� D�LU� mD� H�

P�N�C�		� DWPL� GLX� DPG� D�LR� mD� H�

DW�C�		� DWPX� GXR� DRL� D�LP� mD� N�

DN�C�		� DWRW� LDW� HWN� D�LX� mD� DG�

HW�C�		� DWRW� LNX� HHR� D�LX� mD� �s�

GW�C�		� DWRH� NWX� HNG� D�LN� mD� s�

e��DW����� DWHL� GUW� DUN� D�XL� mD� D�

HW����� DWPL� LLW� HHW� D�LX� mD� G�

GW����� DWPL� LNW� HHN� D�LR� mD� N�

LW����� DWRW� LNX� HHR� D�LN� mD� s�

�



�

� � � � �NP

�



� � �NR

7��C������L�X���6�(�	��L�DW�*3������	��
��!�=����9

����
��	��	�������������
��=H+�

��������	�
�������	����������������
��=H�
�������	��(����������	������
������������	�����


��� ������� 
�� !�=��� >�	�����@��� 5���� ��� /��
��� =6HW�� =6GW� �� =6LW�� 
�������
��� ����

�������
��=H�
��HW��GW���LW�������	�����������
������	���
����9

����
��	��	������	/�����

�������5������	�����5�����
��D�LX��=�/��
��=6DW��
�������
������������
��=H�
��DW������

��	���
��� ��� 9

���� 
�� 	��	����� 
�� D�XL�� �

���

�� ������ 	���� ��� !��� '�
��	���

����
�������� ������
��=H����
������	�������*
��DW�������	��LW����+����	������������

����
��� 
�� �������	�� 
�� 
������ ������� 
�� GUW
�� ��	�� LNX
��� ��
��5h�
����
���� ���

����
���
�������
��
����������=���	�������������5������		�������
���
������
��9

����


��	��	�����
��D�XL�*	�������!�+���	��D�LN�*	�������=+�����������
���
��������
��=H��1����

�

����5�����������
��	������������
��=H�
���	����������		����������	��
��	��	�����
��

���(#
���
�������������	���������(�

��������
��
�����������������	������
��������
��=H��

���������������
���	��
�
��
����������	���
����	�����
���
���UG�j�����D2L�
���A��
��


��L;�
��
�A���	����

� 7����
-������=3!�
���������� *�
����,+����
�����	�����
������?���
����������
��

!�=�� ��	��

�@��� �� �	������ 
�� �	������� �� �� ������ 
�� =H� *6�(�	�� L�DD� �� C������ L�P��

	�����������
��+�� ��
�������
��	��	���� 	������
�������
�����	� ���������	���������
������

�������	-�
��
���������
���	������
���
���������	���6C1)���
�������
����		��������I[6��7��

6�(�	��L�DD��5�������	�����
-�����=3!�
�����������������	������
���	������
���	�������

��	�����@��� 5��� ���		��� ��� ����
��� 
��� �����?��� 
�� [ 2�	�� =2�	� �� =@[2�	 ���

����
��	���� �� �	������ 
�� �	��������C������ ��� ����	��� ����
���
������ 
�� ��������
��

!�2�	�
���	���������	���	���?���������
��DN�C�		������������������	��
�����	���	���?���

����	���5���DN��C�		�
�������	�	��������=��[��2���=@[���	���
��
����
������������	�����


��6�(�	��L�U����	�����@���5����������
��	�������	���������9

����
��	��	�����
���
�����	��

����	�����
�	���5���D�LX���

���

������	������
��/��
���	��������=����	��
��������
-������

=3!���
��	���������
�
������������	�����������(��?���=@[�
����������
�������
�����
���

��	� �
�
������
��� ��	� �
-����� 6C1)�� �� 5��
��� ����	� ��	� �� ��
��
�	����� 
�� [� 
��� ��������

����	���	-�����	���
�
���������	���	-��������
����		��������I[6��3������.-�������	�����
��

�������
��	�����
��!���3���	�@��������	����
���������	�
���/��
�����

�

�



�

� � � � �NU

�

�

D� W�P�

D� W�P�

D� H�P�

D� D�U�



� � �XW

7��C������L�P��5�������	�����
-�����=3!����	������������������������������
��=H�


�� HW������� LW� ��������	�����@�������
���
������
����������
��!�2�	� *
��D���	��W�P+� ��

[ 2�	�*
��D���	��W�P+����������
���
��������?���
��=2�	���
��=[2�	 
��D���	��H�P���
��D�

��	��D�U��	�����������
��������������������	��
�����	���������
��=H�
��LW������
�������	�

	����� ��� =� �2��� =@[� �	���
��
���� 
�� �������� ��	����� 
�� 6�(�	�� L�DW�� ��	�����@��� 5���

5��

���������
�����������
��=H���� 9

����
��	��	�����
���
�����	������	����	/���������

��
�	���5���D�LX���

���

������	������
��/��
���	��������=����	��
��������
-������=3!�

��
��	���������
�
������������	������>����	�������	�5������������
���
��	��	�����
��=@[�


������������
����	��
�
������
����	��
-�����6C1)������	�����
�������
����		��������I[6��

5����

��������	���
�
��
���/��
�����

� =��������	���6C1)�*�
����'+���	������
�����	���
�
������	������(��?���5�9����������

�
��	��	����� 
��[�
��� /��
������6�(�	�� L�DH� ��	���
��� ��� ������	���6C1)�
��� �������
��

!�=�� 
�������
��� ���� �	���?��� 
�� N�� P�N�� DW�� DN�� HW�� GW� �� LW� �C�		�� �� 6�(�	�� L�DG�

��	���
������������	���6C1)�
����������
�������
��������������
��=H�
��DW��HW��GW���LW�

������ �� C������ L�X� ����	�� ��� �����?��� *��� 
<��	�� 
�� �

�+� 
��� ������ �	�
�������

	������
�
���B�� ��(��?���!�@=�*��
��
�����	����� +��������	A���	�����
�����
���

��	����
��
��������������6�(�	���L�DH���L�DG�����������
������	�������		����
�	��DWHL���

DWRH���@D�*��
��
�����	����� +���
�	��RLD���RLU���@D�*��
��
�����	����� +�

���
�	��LXH���LRH���@D� *��
��
�����	����� +����������	������
�
���������� ��(��?���

!�@=�� �

���

������	������
������������
���
��/��
��
��!�����5������-�
�����	
���������

	������
���
��9

����
��	��	�����*6�(�	���L�U���L�DW+�������
����������
-������6C1)�*6�(�	���

L�DH� �� L�DG+� �

����� �� �	���
��� 
�� ����	�?��� ��� DDWW@DDPW� ��@D� �� ��� GGLW@GGNW� ��@D�


���
�� B�� ��(��?��� =@[� *��
��� 
�� ���	����� � �� �� 	�����������
��+��

��	��
����5������������
������
������/��
�����	���
�����������
��
�	�����
��=[��1������
��

��	� ��
��	��
�� ��	����� 
��� ������	��� 6C1)� 
��� /��
���� 5��� ��	��� 
�������
��� ����

�	���?���
��HW���GW��C�		�*6�(�	��L�DH+��
�
���
�
�����	�=�HW���=�GW��	�����������
����

������������
��=H�
��LW������*6�(�	��L�DG+��
�
���
�
����	�=6LW�*��.��C������L�X+��6���

����	��
��5��`������

���
������	�����	/������
��GGLW@GGNW���@D�*
���
��B����(��?���=@

[+�
���������	���
������/��
�����	���
��	�������	�?���������
��
����5������
���������	���


������	���/��
����3�������
��
�	��?�����
��	��������
-������=3!��
������
���
����	-(	����

�
��	��	�� ������ ��	�� �	���?��� ����	��� 5��� DN� �C�		� �� ��	�� ������ 
�� =H� 
�� LW� ������ ���



�

� � � � �XD

�������������
��5��
����
�������/��
�����	���
�����������
��
�	�����
��=[�������
������

��C������L�X�����	��5������/��
��� ��	���
���� ������
�� ��		����� ���I[6�����	���5���D�

�2��
�� �� 5��� �

���� ���� ����� ��	���
�
�� ��	�� ��
��� ��� �����	���� 
���
�� B�� ������

��
��
�	��?���
��=[�
�����������=��������	���6C1)�
��/��
���
�����	������5��
������	���

��
��
�	�����
��=[�
���������������
����

���

���5������������
����5������������	����

��
�	���
��
�	��������	��������	��/��������(�@�������	�(	����
���������
�	���	�����	��	�

����� ��
��
�	������ ��	�� ��� 
��	����� ������� ����� �	�(	���� 
�� �������
�	� ������
�� ���

������	8���	�� 6C1)� ��	�� ���	����� 
�� ��
��
�	����� 
��[�
��� ������������ ��	�� ��� /��
���

��

��
�����

�

�

�



� � �XH

� �

�



�

� � � � �XG

=���������
��/��
��
�����9��������
�����	���
������������	��
�����	����	9�������5���

�� �� ����� ����� 
�� ��		����� ��� �������� 
�� I[6�� ��
����� �
���� �������@���� ����� ����
��

���	��������������������
�����	��-5��
�����	�����	���	��������
����
������	�9���� *

+�� =� �	������� 
�� ����
���� 
��� ���	���	��� �����
���� 
�� ����	�9���� 
��

�����	������(������������������	�
���
��6�(�	��L�DL���
���	���������(��	`�

�

*�+��
�������
������������
��������������
	���
���A��
��
�����9�����

*I+��� ������ 
�� 
��	���� 
�� ���9���� 76H�N� ���� ����� 	�����#
���� �� �������� 
�� I[6�

*C������ L�D+� �� 
�������
�� ��	� �	������� 3')@'>�� *��	�� ��	��	� 
�� ����
��

�����
��� �
�	�� �����	���� 
�� !�� �� �� !�@�����	������
��� 5��� ��	-� �� ���	���	��

�����
��+��

*'+��� ������ 
�� !�=��� ���� ����� ����� 
�� ��		����� ��� �������� 
�� I[6� *=6LW+�


�������
����	��������3')@'>����

*�+��� �	����	�� ����(	�������� �������

�@��� �� ����		������� �VDGNW�� �� ��		����� 
��

������
��!�=�����I[6���

*3+���
���������
��!�������	������
��*!�@����+������D ��
���������	�����	��	�������

0�'>����	�������=����	A���	���
��
������������
�����	��`������	���	���������


��!�[L�*��	�+��������
��[H����	������
��RWW
W'��LW�������LRWW��������N�C�		��

	�����������
����

*6+��� ��(�

�� ����(	�������� �������

�@��� �� ����		������ �VNHDL3� �� ��		����� 
��

������
��!�@�������	��	��������������)13��

*,+��6�
����
������	�������
��������
��!�=���5������-���

���������
�����������
��

���	��������������������
��I[6����	��������
����
������	���	��������
����
��!�@

�����
������	�9����
�������	�����

�

��
�������	�����	�
��6�(�	��L�DN�������(���
�����	������������	8
����
����		�
�	��

*!3$+�
��� ���	���	��� �����
���� ����
��� �������

�� �� ������
��!�=�� *=6LW+� ���������
��

���	�������� ���� ������
��!��7&� *76H�N+�5������������������� 	�����#
��������		�����
��I[6�

���������
�������
����



� � �XL

�

��������	���
��!�=����	�����������
��	�
��������������
����
	/��
��
�����-�����

��	����	�����	�������	�����#
����B���		�����
��������������7��C������L�R����	����������������


����		����������������
��\=[�*DW$+�������������	���	��
����	�����
���
���PW '��

� ���� 	������
��� 
�� ��		����� ��� \=[� *C������ L�R+� �� 
��� ��
�
��� 
�� 9

���� 
��

	��	�����
���/��
������	���������5��`�5��
�������	����	������
���	�����������#�@����������

�����	��������=��5�����	���
�����������	���������*m�DW�
�2��
+�
����		��������\=[��

�����	� 
��� ������� 
�� /��
�� 
�� ���9���� 
��� ��	���
��	��� ���� ����� 	�����#
���� B�

��		����� ��� \=[�� 5��

�� �����	�
��� ���� ������� 
�� 
��	���� 
�� ���9����� ������� ��	���

���	���
��� ���	���	��� �����
���� 
�� /��
��� 
�� ����� ����	��	� 
��� �A��
��� 
�� !�� *

+�� ���

�� �� �	������� 
���	���� 
�� ���9����� G�� ��
�@��� ��	�����	� 
���

6�(�	��� L�DX� *�+� �� *�+�� ���(�
�� 
�� ���	�������� /������ �� !3$�� 	�����������
���� 
���

���	���	��� �����
���� 
�� /��
�� ��/�� ��		����� ���\=[� *DW$� 2� PW '+�� ����
��� ���� /��
��

=6DW�*�	�������
��
�������������������
��DW�����
��=H+����5������	���
����������
�	�

�����
����		��������\=[�*C������L�R+��

�



�

� � � � �XN

�

�

H�

H�

N�

DG�

mUW�

mDWW�

D�

G�

N�

mPW�

� �

�

�

�

7�� C������ L�U� ��	���
���@��� �� �
�
�������?��� 
��� �����	��� 
�� !�=�7&�� ���

��	A���	��� 
�� �	������� ��	�-������ ������ 
�� 
���������� �������	��� �� 9

����� 
�� 	��	����� ��



� � �XX

������ 
�� ��		����� ��� I[6� �� \=[�� �� 6�(�	�� L�DP� ����	�� �� (	-����� 
��� 	������
���

���������	����� 
��� ������� ��������	������
�� ������
��7H� ��=H� *HW2W�� DG2P�� DW2DW��P2DG� ��

W2HW+����	����
���������
����
������������������������
����������������
��GW���
������

DPW� NDW� D�PX� NHW� lD�

DRW� NLW� D�PH� NLX� lD

DUG� NRW� D�XN� NLG� lD�

HWG� XDW� D�NX� LUX� H�

HWW� XWW� D�NW� LLW� L�

DUG� NRW� D�NW� LRW� G�

�



�

� � � � �XP

�

�� 6�(�	�� L�DP� �� �� C������ L�U� �

����� 5��� 5��

�� ��� 	�
��� �� 	����� 
�� ������� 
��

7H2=H ���������	� ����
���
��NDW���	��XDW�
������9

����
��	��	�����
���
���
��D�PX���	��

D�NX�������	�����
��P2DG����	����
�	�������	���
��	�����*G2DP���W2HW+�����������	��	�
���
��

XWW���	��NRW
�����
��

�@�����9

����
��	��	��������D�NW��3�����	������
����

����`�

�+� ����	������
���������
�����
��	�������������9

�����
��	��	������������
�	����

�
��	�����
��D�LX�*9

����
��/��
�+���H�WW�*9

����
��
��	���+���

��+� �� 	����� HW2W� ��	��� 
��	���� ���� 9

���� 
�� D�PX�� �

���

�� �� ��	������ 
��


��	����	�������7�*������	�����
��	�����76HW�*C������LD�++��6���������������

��
��
�	����� 
��7� *�� 5��� .-� �	�� ����	�
��� ����� ��
��������� ���� �������
��

���������������
��7H�
��HW�����+���	���
����������
��	��	�����
��[�*�����

����	�
��
���	������
���
�� �����
����		��������I[6�� ��
���
��C������L�U�

*��	��	������
���
������
��	����+��5��
���
��C������L�D�*��	��	������
���
���


��	����++��

���+� �� 	����� W2HW� ��	��� /��
�� ���� 9

���� 
�� D�NW�� �

���

�� �� ��	������ 
��

/��
��	�������!���J��
��	�������!����	���
���������
�	������
����		�����

���I[6�
��LRW�
�2��
��5��

�������	�
������������ ����������	���5���D�

�2��
�
���/��
���	��������=�*C������L�X+��

��+� ��	�� 	��?��� ��
�	��� 5��� P2DG�� ����	��@��� ���� ����	����� 
�� �	������� 
��


�������������������
��
�	�����
�����(#
���
�����������
�� ��	��	�����
��

����� ����	����� 
�� 
���������� 
��������

�� �� �	�
���	��� 
�� ��������� ��	�� ��

��	������ 
�� ������ ���	�� �� �����	����� 3���� 	������
�� ��
�� ��	� ��
��	��
��

�������
-������=3!�����	������������	�����

�

��	��
���������
��!�=�7&�����������������
���	��
�
��
����	�����
���
���UPj�


����������	���
����������
�������
������D2L�
���A��
��
��!��
��L;
��
�A���	����

7��C������ L�U� ��	��������� 5��� ��� ������� 
��!�=�7&���	���
���� ������
�� ��		�����

���I[6��
�	��LRW���NLX�
�2��
��5�����������	�������	���5����������
�����	�����
��	�����

*C������L�D+�����
�	���5����������
�����	�����/��
���*C������L�X+����5�����
��	�����	������

�
-����������	������
���������
�����
��	��������



� � �XR

=���������
��!�=�7&���	�����������
��	�
��������������
����
	/��
��
�����-�����

��	����	�����	�������	�����#
����B���		�����
����������������C������L�U�����	���������	���
��

�����
�� ��		�������	��������
��	����� �����������
��\=[� *DW$+��������� �����	���	��
��

��	�����
���
��� PW '�� '���� 	������
�� 
�� ��		����� ��� \=[� ��	��������� 5��� 5��
���

����	� �� ������ 
�� =H�� ��	���@��� ������� ��
�� ��������� 	����� ���=�� ������	� �� �� ����� 
��

��		��������\=[����	����	����
�������������5������������	��������
��	�(#
����������5���

������	��������
�	��������
����		������3����	������
��.-��	������	�
��������������
��	�����


��� ���� 
��� /��
���� ���� ������ ���\=[�����	��� 5��� H� 
�2��
� *C������ L�X+�� 
��� ����


��	������ ���� ��������
�	��� 5��� D� 
�2��
�� ��
��	��

�� ��	� ����� �
-������ �� ��	������ 
��

�������
�����
��	������

=���������
��!�=�7&����������	����������
���
������
����
������	�
�������
����

�����
���� ����� 	������� 
�� �����	���� ����� ����� �
��	��	� ��� �	�
���� *

+��4������������������
�����
��	����
�����9��������
����	��������3')@'>��

���� ��	A���	��� 
�� �	������� 
�� DW����� 
��7H� �� DW����� 
��=H� *=7G+�� 3����� ������� ����

���
��	���������9

����
��	��	�����
��D�XN����	��
����
/���������������

�����
��	���������

��
��
�	��?��� ������	��� 
�� 
��	�(#
��� �� 
�� ���(#
���� =��������� ��� ���	���	��� �����
����

��
��	�������	�
��
��6�(�	��L�DP��

�

�



�

� � � � �XU

7������	���������	�������
������������
���
��
��	�����/��
�������
��	����
�����9������	�

������� 3')� * +� 
�� ����� 
�
��
�
��� ��	��� 	������
���

��	����	����?���
��� �����������
�����	�����
��� ���
�����
�����������	���� ������	��������
��

����	���� 
�� �
�	���	������ *6C1)+�� ���	�������� ����	8
���� 
�� ��		�
�	�� *!3$+� ��

���	�������� /������� � =�� �������� ��	��� ��	����	���
��� ��	� ������	�������� ��	� ��������

/������*=3!+�*���������5�����	������������+��C�
��������	����	����?�������	�������.������


�� ��	�����	� �� �������
�
�� 
�� ����������� 
��� ������� ��
��� ����� ����	�
��� �� ��
����

�����
���� ��� ��������� 
�����	��-5��
���� �-���	��� ��� ��		��?��� 5�9������� �	������� 
��

��	�������������
������	���������
���

�

��
���������	����	9��������

>�	������@��� 5��� ��� ������� 
�� !��7&� 
�������
��� ��	� 3')@'>�� ��������

�	��	��
�
��� ����	��
����� ����� ����� ����9������ ����� 
�� ��		����� ��� �������� 
�� \=[� ��

I[6� ��	�� �� ����
���� 
�� ��
���� ������	�
��� �����
����� ��	�� �	������� 
�� 
������������ ��

������-���	����	����		�����
�������	���������������
��\=[�*�������
�������
�������N �


��)6�������������
��N� �����
��7H� @�7)6N���76N+�������
������������ �������������

��

�������
��� ��	�� �� ���	������� 
�� ��
��	��� 
�� �	������� � =� 7��	���� ���� ����9������ ����� 
��

��		����� ��� I[6� ���� ������
�� ����� ����
�� �����
��� �
�	�� �� �����	���� �� ���9����

�����	������
�������
���*�������
�������
�������N �
��)6�������������
��H�N������
��7H�@�

76H�N+�� 7�� C������ N�D� �� N�H� ��	�����@��� ��� 	������ 
��� ��	A���	��� �� 	������
��� 
���

�	�
��������������
��!��7&����	�(�
���
������	��������

'������	������
���
����������
��!��7&���	���
��
���������������
������	�������
��

�*>����HWWL@G������DDU@DHL�@�!I$1')=�HWWL�@�DU���

!&�������� �
�$��	������	�
���� �

� C���
���(&+� ���� �� �9����`� t

t� �� ��

�� ����� ����	��`�'��I���������I��

$�
����)�)��7�������'�!��)�������������
����!�����$���%��&����1���������� ��!"�	���



� � �PW

N � RLN� GUW� DG� D�UG� DH� l�D�

����H�N����� RUW� GUW� DG� H�U� W�P� s�

�e�������N����� RNW� GUW� DG� D�UG� DD� l�D�

�

=�� �������
��!�=H� ��	� ���� ��	����	9������
�� �-���� ��		����� �����������
��I[6�����

�������
�����������
�����	����������	������	������
�����	���	��������
����
������	�9�����7��

C������ N�G� �� N�L� ��	�����@��� ��� 	������ 
��� ��	A���	��� �� 	������
��� 
�� ������� 
�� !�=��

*�������
�������
�������������
��LW������
��=H����	������
��HW��C�		�]�=6LW���=�HW+�

���	�(�
��
������	����������������
�����	���������



�

� � � � �PD

HW�C�		� DWRW� LNX� HHR� D�LX� mD� �s�

LW����� DWRW� LNX� HHR� D�LN� mD� s�



� � �PH

3�����	������
���(�	�	�������	�������5��������������
�������������	������
��	#
����


��!I$��	��HWWN��������9����� �: ;�

��

�����������	��`�'��I���������6����I��������)��'��C�����	������'��!��)��������������
����

���$������	�
���!�����$���%��&�����1���/���

=�� ������� 
�� !�=�7&� ��	��� �������
��� 
�� ���	������� 
�� ���	���	��� �����
�����

��
�

�� ��	� ���� ����	
������ ��	�� �������������������������
�����	��-5��
����7��C������

N�N� �� N�X� ��	�����@��� ��� 	������ 
��� ��	A���	��� �� 	������
��� 
�� ������� 
�� !�=�7&�

���	�(�
��
������	��������

�

�

�

�



�

� � � � �PG

DUG� NRW� D�XN� NLG� lD�

�

'������	��������������	�����
���������	`�

�

@� �������	�������������
��!��7&��!�=����!�=�7&���	�����	�������
����
��	����

@� �
�����	������	����	9�����������	�����
�����������

@� ��	�����	������	�����
�����������

@� ������	�����������
��!�=�7&������(�����
���

���

@� ��	�����	� �� �������
�
�� 
��� ������� ����� ����
��� �
��	������������=�� �������
��!�=�� .-�

��	����������
�����	������������
�������������4���	����������	�����������������������
��


�� �*>����HWWL@G������HWD@HWX�@�!I$1')=�HWWL�@�

DU���!&���������
�$��	������	�
�����

�C���
���(&+������� �9����`�:

�� ��

��

���������	��`�!��7��$��$����
����'�I�����������'�'������,��=��������1���������������
���

����� ��!"�	���

�

�

�

�

�

�

�

�

�



�

� � � � �PN

�
aDb@)���� 0��&�� $��	�����	�
��� $���	����� �

� �	��������� \��"�	� ���
����� ��������	���

DURU��

aHb@!�$��!����>0!1�C���
���(&��$�(	�"@[�����H

�3
��DURL��

aGb@$��,�
@��@��%��C���$3$!�[�

���%��')'��	�����HWWH��

aLb@$�
����$�	���6�

���
���������$��	����	������
��')'��	����DUUP��

aNb@)�� )�� ��
�������� ��� ��� ��
���� 3�� '�	���� ��� ��� C������ ���  �� !"�	��� �	����
�
(�� !�13�

'�
��	�
��� �
� $���	����� �

� ������� '��	����	������
� �
� $��	������
�
(�� !�
��� '��	���

'�����	
���]�4!���>����GNDH������DLX��DUUR��

aXb@�!���$���%��&������������
������� ��!"�	���������C��������$��$����
���:���������
����

������
� 
��	�
�� �&� ��"@�	����	�� �����	�
� �&����	�
� 	���
�
��� ������� �
��
��
� ���������

����	�
��������
��
�7H2�	2!�[L;� �*DN+X������HXRH@HXRP��DUUP���

aPb@���������
����1���������� ��!"�	���$���	����'��	����	������
��NW�*H@G+��DGN��HWWG��

aRb@�'��I���������I��$�
����)�)��7�������'�!��)�������������
����!�����$���%��&����1������

�

� �� �� !"�	��� !����

�
�����	�
�����
�� �&� ������
� 
��	�
�� 
�������
� �&�3')@'>���

>����G������DDU@DHL��HWWL��

aUb@� O�� $�
���� �

� C�� $����&��� !�����
� 
��	�
�� ���
� ������ �	���	�
� �&� ���� �����	�
�

�&����	�
�	���
�
�����������������������	�
��������
������
�� ��XX�*X+��DURU��

aDWb@� !��  ����� �

� )�� 7�� C����	�� !�����
� �	������
(� ��	� ���� >0!1� 3	��� >���D`� �	������

C���
���(&��0��������	�����DURX��

aDDb@��� )�� 6������� �

� )�� 0�� ������	�� 0�"� �&
	�(�
� ��
��
�� ������
� 
��	�
�� ������ �	���

�����	�
��&����	�
�	���
�
������������ ��PL�*N+��DUUG��

aDHb@)��)��7���������
�������
���
�����	�@���	���	������A
��������	�������9������	�����
��

��		�����
�������	�������������	�9����������	������
��$���	�
���633'@471'�$���HWWH��

aDGb@� \�� )��  �������� �

� )�� !�� $����	�� 3���� )����� ��	� $��	������
�
(� �	������
(�� �

��>���N�7�L������HNX@HXU��DUUX��

aDLb@�\��)�� ���������\��,������

�$�� �����%��3����)�������	�$��	������
�
(��	������
(�

��	���11 ��>���DH�7��X�����PPD@PPR��HWWG��

aDNb@� !�����
���� '��������� C��� !���
��� �

� 3
(�
��	�
(� ���$��	�����	�
��� 6��	������
��

=���	
��
���	���&��	�����DUUX��



� � �PX

aDXb@� ����������	�� $�������� �

� ��I�,	����
�� !�����
� >0!1� C���
���(&� ��

���
����

�	��������

���
���
(���	�
�����[�����HWWW��

aDPb@)�� $����		��� 3�'�� !���
��� ,�� !����� $�
��������
� ��� 	��	������� �

��� �
� ������
�

��&
��	�
�������
�	�
(�
��������
�� �LN������LP@NW��HWWW��

aDRb@$��$�
	��
���$��,�	�
�	��7��C���������1
��	��(����
��
����������

����	����	���	���

�	���	�����������������
����
��0�'>��!�=�7&����
�������� �DP������DLN@

DLR�HWWD��

aDUb@$��C����@���	��,��I�������$�
�	
� �	�

�� ������	����	���	��� �

� �
��(	���
� �������

��	� �����
������
�� ��
��
(� �

� ��������
�� �� >���GX��7�N�� ���� DGWP@

DGDR��DUUP��

aHWb@ �����'������
��[����� ���C���>�
����������[��,����
���'��	����	������
����!�����
@

=�&
��	�
�� 6�������������
� �&� ������@3
��
��
�'>��� �`� !���
� ������

!���
����

�C���
���(&�DGG�����DLNR@DLXP��DURX��

aHDb@� ������0������	�.�����$�
���(�����6��	�������
��,�����
��=

��u�������1
��(	�
���

I����
���������9��	�����	���������������!�
��	����4!�@!���'�	����HWWH��

aHHb����6	�
�����4��'��	
���%����

�[��6���v�����2�7��!�
�(���� PD��GPUX��

DUUP��

aHGb@�!�$��!����!�����

����	�!�
��	�����
� ���&�w�!�
���1
���DUUL��

aHLb@�)����)������$��	�@���������1
��(	�
����1�3������
��$��	�����	8
����
��!I'@!����N@DW�

.������DUUU��0��	��������������DN���
���	���)��)������$��$���	��&�����HXN@HRL��

aHNb@�,�����$�
�	���������	�����
����	���
�����
��	����
�����9��������
�����	��������3')��

�����	������
��$���	�
���633'@471'�$���HWWL��

aHXb@�����

	��,�	
��6��9�����:6������1����
����
��!�=�7&�6�	��
�����	�1����
������
��

7��	�(#
��� ��� !����	���� 
�� !��9���� �� �����	��	� =��
����� C�	����;� �����	������ 
��

$���	�
���633'2471'�$���HWWG��

aHPb@�$���'��I�
�����C����
��$���	�
�@633'2471'�$��*DUUH+��

aHRb@���I���������

���@0��\"�
(�� ��DG��GXW��DUUH��

aHUb@� ��\��$���	�&�� �0��[�����K�@0��K���>��$��	��� ����� �	���
�� �

�,�!��[�		����

���XG*HX+��GXDU��DUUG��



�

� � � � �PP

aGWb@� �

�� ������ !���	��� :=���
���� �� '�	����	������� 
�� 6������ 6�
��� �� 4��	�@6�
��� 
��

J��
�� �� =��
��	���� 
�� !��9���� ��� !������� ;[���@$�
�;� 
�� ������� )�����;�� C���� 
��

�����	�
����!162633'�471'�$���DUUU��

aGDb@�������
��������!���	���,�!��0�.�
�������C��������� �!"�	��� �

DXX@DXP������XL�]�XU��HWWW���

aGHb@� ������
���� ��0�'������ 1���
������ ����� C������� �� �!"�	��� DL��� 1
��	
����
���

'�
��	�
��� �
� $��	������	�
���� �

� ���%�(�
(�� ����D�� ���� DXL� ]� '����
��2!�@� I	������

DUUU���

aGGb@� ���� �������
�� �	��� C�����&����,	��.��
�� ��
(4
�$�%�� �

�$�	%���� ��		�
�� :C���

����(
��

�����������
����3����	�
�'&����	�
�)���
�
���������	(��;�

�>����HN��7���X��DUUP���

aGLb@� \�� !���%��� !�� =%�
��	��� 7�� !�%�
��� �

� 1�� \�
�������$��	�"���� ������� �����
(���

�����DX��
���DD������DUPU]DURL��DUPP���

aGNb@�0��I�	
����,��0�
(�	��1��!���������$�������

�6��V���%���������
������	�����
�������
�

���
���������
�������
��
������	�"������(
������������������� �����

R������0DUN]0DUP��DUPN���

aGXb@� ��$����� �

� 6�V���%�� ��
��	����
� ��� �� ��	�
(� �����	���(
����� "���� �
� �
�

�
����(�
������������(�
�	���
��&�3')����
(�����(
������������ �����DG��

����LPD]LPX��DUPD���

aGPb@�'��)��I���
����'�		�������	����������	�����
���(����'$=!������	������������C����


�������	�
���633'@471'�$���HWWG��

aGRb@����	�
�,	�����'��
���������
�$���	�����6��	������
��1333��	�����7�"�O�	%��DUUG��

aGUb@�$�
����
��3����8���	��)�
��������
��������@30�71)�H�
��'�
�	��
��'����
�
����

!�����

���	�����

aLWb@��������
����C����
�������	�
�@633'2471'�$���DUUX���

aLDb@ ��'��$�	��
��� :3��������	��;�� )����/	��� 
����������
�`�$�
�
��� 
��'�	����	�������

��	��$��	�����	8
�����633'@471'�$���DUUL���

aLHb@ �� )�� )�
&�
�� :!�����

����	� $����	���
��� �

� 1
��	���
�����
;�� C�����

1
��	���
���3����	�
����!�	�����$�(	�"@[����'����
&����DNR��DUPN��

aLGb@�)��3��!�
�����1
�����(��������	����6�	��������3�������
�
��C�	�����
���!���������
��

7����7�*��+����!����	�����
��!��*DWW+�������	������
��$���	�
���633'@471'�$���HWWG��



� � �PR

aLLb� )����	
� [�� [�

�����
�� �� !��
��&� 0�� 0��
�	
� 2� )��  �� ��� $�� ��	��	�� �������

���(
������C���
�5��������
������	�����7�"�O�	%��DUXN��

aLNb@� ���!�����)��%����:3����
(;������ �$�,	�"@[�����7�"�

O�	%��DURP�

aLXb����I��I����	
��'��'��0�
���'���������������	�� �GP��)DLG��HWWL��

aLPb@��� )�9@'���
��%&�� [�

���%� ��� $��	������(	���&�� $��	������
�
(� �

�

���	����	������
��>���H��!�13�=�������3
(�
��	�
(��	�����DUUP��

�



�

� � � � �PU

�

=����������
����	�
���
�
���������5��	�������
��
������	���aGRb��=���
��	������
��

�����	���	�� �� 
�� �
�	(��� ��		����

�
���� �� ��
�� ��� 
��� 5���	�� ����
��� 
�� ����	��� 5���

���		��� 
�� 
���	����� ���� ��	���
��
��� 
�� 6�(�	�� �D�� :�����	(�� ����	���;�� :
����	(��

(�����;����:
����	(������
����
��;����� ��	�������
�����	����������5�������
��

�������

��

�� ��� (-�� ��
��

�� ��������� 
���	��� �� ����	�����
��� ��		�(�
��� ����� ����	�
��� 9�
��

����������� 9�
�� 
�(������� �� ����������� 4�� ������� 
�� ��
��� �� ����	�����
��� 
���	���

f���5��	�
������
�����
���
����	(��	������	-���������������	�����5�����

���������	����

��	(���
����
���� 	����������	����5���9�	�������������
�@���
���	�5�����
�
��
�
��
��9�
��

����������
������	��(����B�
�
��
�
��
������	�
���������
�
��
�
��
��9�
��
�(��������

�

�

� 4�� ������� �� (�	����
��� ����
�� 5��

�� ���� �
�	(��� �������
���� ����	� 
�� 5��� ��

�
�	(���
����
�����������	
���
������-�������2�������������
�����(-��������

����
�������

�� �	�
����� 
�� 9�
�� �� ����	�
��� �	�������� 
�� 	������
����� �
�	�� ����	�
�� �� 9�
�� ��
���

���		�	� ��	��

�� -������ 
���	��� ��� ����������� 4�� ������� �� (�	����
��� ������
�� ��

��
��
�� ��	����� 
�� ��	
�����
��� 
�� �
�	(��� ����	���(
������ ��	�� �� (-�� 
�� 
���	�
����

��	������������	������������		�
���
�	�����	�
����	�5h#
���������	��

����5������������
��

�������3')��

�



� � �RW

�

�

�

�

�

�

�

�

�

�

�

�

�



�

� � � � �RD

�

�

�� ���������	��� �� ���� ���
���� �������
�� ��	�� 
���	��
�	� �� 9

���� 
�� 	��	������ ��

��������
���
������	���������������	��
������������	�
���	�
���
������������������
�����


�� ��� ��� ����� ����	����� ���	�� ��� �����	���� �� ��	��	� 
�� ��
�
��� 
��� ��	����	9������� 
��

����	�������
������	������
����	���������	�9����aLDb���

�� ���������	��� �� �� ������	����	��� 
�� ����	�������� ����� ��
�� �� ��
�
��� 
��

����	�������
������	������
��
����������	�9������

�

=�3����8���	��������5������
���5�����
������
�
���
������
��
������	�������
��

���������	������
�����	������������/�������!�������	�A
�������-���(�
����������5�������	��	�


�������
�
������
�����	�����
��� �
��	���?���
����������/�������4���		�
.���	�
����
���


�� ��� �����8���	�� ���-� 	��	���
��
�� 
�� 6�(�	���L��4�� ������ 
�� ������
��	��-����� *0+�

�
��
�� ��� ��� ����	���
�	� *�+�� 5��� �	�
��� ���� 
�� ����	������� ��
����
�� �� ��
�	���
���=�

�������
��	�(����������������/������*!+�����������������
��
������	�����������	�
���=�������

	������
������
������
�
����	������(�

������	���
�	�*�+������������
������	�*�+��

7��
���	��
�����
���������	����
��9

����
��	��	��������(��@���	���
���
���-��������

'��������-������������	������������	������������	���
�����
�����������@�������	�(	����
��

�������
�	�aDH�LHb��3�������
����
���
-����������������������
��
������	���������	���������	�

��9

����
��	��	����������������	��
��������
�������
���



� � �RH

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



�

� � � � �RG

�

�� ������	����	��� 6C1)� �� ���� ���
���� 5��� ��	����� �
�����	� ��� ��(��?��� 5�9������

������
���� ��� ���� �����	��� ��� ��(��?��� 
��� -������ 5��� ��	���� ������������� ��������

�	�5h#
����������9������
�����	������5�����	����
�����	
�����������	���	������������������

����
��
�����	�����aHX�LWb���

7�� ������	8���	�� 6C1)� *6��	��	� C	�
���	�� 1
�	�@)�
+�� 5��� �������� ���

�
��	��	8���	�� 
�� $�������
� *6�(�	�� ID+�� ��� ������ 
�� 	�
������ ��
��	��-�����

�
�	���	������ ������ ��	� ��� 
�����	� 
�� ������� ��

�� ���� ��	��� 
�� ���� 	������
�� �� �� ���	��

�	�
�����
����	�����
�����3�������������
��
�����	�����������
����������������

������������

���	�� �/����� �� 	���	
��� ��	�� �� 
�����	�� ��	������

�@��� 
�� 
�	����� 
�� �����	��� ��

	������
�����
��	�
������	������
�������	��������
���
���������������������������
���
���


�� �������� �/���� *�	�
���
�
�� ���� ���� ������
�
�� ��
���
��+� �	�
��� ��� ��
	��� 
��

�
��	��	#
����� ���� ����������� �
��	��	#
����� ��
��	������� �� 
���	�������� ��	��� 
�� 	�
������

����������������	������
-������
����
�����(�	�������
������	���

�� ��
������� 
�� ����	���
��� 
�� �

�� 
�� 	�
������ 
�� �
�	�@��	������ ���� ��

�	�5h#
������	����	9��������
��
�����		����

�
���B��������������
��	��	#
�������
��	���������


���	������� �� �
�����
�� ����� 
������	�� 5��� �������

�@��� 
�� ��� �	�(	���� 
�� �������
�	�

������
�� ��� �5������
���� ����������� ������������
��� �� �	�
���	��
�� 
�� 6��	��	� 
��

������	�����	������������
������
�
���
�
��������	����	���6C1)�aHX�LWb���

�



� � �RL

�

�

�

4����������������	��	-��
�	(�������	��5������	�5h#
����
��	�
����������(�������

�	�5h#
���� 
�� ���	����� 
���	��� 
�� ���� ��(����� 5�9������ =� ������
��� ���	����
��� ���

	������
���
�������(�����������������	������
������
���
�����	�
������������=�����
���


�����	� ��
���	��
�
��������������� 	��������
�����
�	���
��(	���
�
��
�����	(�������	������

��������� �� 
�(������� ��� ��
�� ��
�� 
�� ���	������ �� ����	���� 
�� �
�	(��� 	�
��
��� 
���

�	�5h#
����� 
�� ���	������
���

�

��
�� ���	������ ��	����� ����������	� ��� ������ ����	����

������
�������
��
��
�
��
����

��
������	����
���
�	���	���������	���	���
������5��
	�
��


��������
�
��
����	������
������
���
�����	����	�������B�
���A
����
���-��������

��	�� ��
�� ��
�� ���	����
��� 
��� ����	�� ��� ������ ��� ����� 
�� ����	���� 
��

������	���=� 
<��	�� 
�� ������ ��
�� ��	���
�	� 
�� 5��� ��� 
<��	��� 
����
��� 
�� ���	�����

������
����
���
�`�

�

B��
�	(���5������
#
�����
������	��?�����

B������	���
�����	������5���
����	����������	������
������
���
�����	���

�����������
�����B�������
��?���
�����	��?�����



�

� � � � �RN

�

������	��?���
����(��?���������	����
�
�����	����-����������������������������


�� /��
�� 
�� ���9���� *!�@=@!�+�� 
�	�����
��� �	�
����� ��

��� 
�� ����	����� 
���
�� ����

������
���� �����	����� �� �������	����� 
�� ���	��?��� 
�� ����	���
��� * +�� 5���

������
���� ��� -������ 
�� 
�	����� 
�� ��(������ 7�� ����	���
��� �����	���� ��� -������ 
��

���9���� ��� �������� �� ��� ��	������� ���� 
���A
����� �(����� 
�� -����� ��
�	��� 
�� ���(#
����

����	�

����
���A
�����
�	�����-��������������	�	���A
(����
�����#
�������	��
���
������		��

��	������ 
������
��� ����	� �� �� ���	����� �� �
������ ��	�� �� �
�	���	�������7�� ����	���
���

�������	���� ��� -����� 
�� ���9���� ��� ��	������ �� �� ���	�� ��� ������� 
�� -����� 
�� ���(#
����

���		�

����	������
������
�������	�*6�(�	���IH�*�+���*�++��

�

�

�

f��

�����-��������(�
������-�������
�	��������	��������������������
����
�	��

��������	�����
��A
(����
�����#
��������@�����
���	������
�������
�����(��?����3������
��

��
�
���
�
��
�� *6�(�	��IG+��

�

�



� � �RX

�

f��

�� �� �
�
�
�� ���	���	��� 
�� ��������� ������� 
�� ��� ��
�� ��	�� ���	�� ��� ���

���
�� 
�� �����	��� 
�� ���������� ���		�� ���� ������� 
�� ���
��� 
�
���
�
�� 
�� ��
�� 
��

���	����� *6�(�	��IL+��

�

�

�

�

��6�(�	��IN�����	�������������
������9�����������	��6C1)�
��/��
��
�����9�����

3����������	����������
����	����������	8���	�������-�������
����I1=@)���6C!@LW������

��
���
�� ����	�
��[�@7���3�����5������
�����	�����5��������
�
�����.����������
������

�����A��	�����������
����
�	���*
��	�(#
��+����
�����

�@�����
��������
����(��?���
���

����������
��[
H
=���
��'=

H�
�	���
����
������������
���*�	+�aDH�LW�LGb���

=� �	���
���
��� ��	�� ����
���� 
��� ��
�
��� 
�� ����	���� 
�� ������ 
�� !�=
H�
�� ��

��(��
��`� �	����	�� �������@��� ������
�
�� 
�� ���� �A��
�� 
�� ���9����� ���� ��	����	9�������

�
#
������ *
�� �	��
������� 
�� 	��������
�
�� �� 
�� 
���(��+� 
��� �����	����� 
��� 5����� ��	���

�	����
�������������
��/��
���3������
�
��
����	���
�������	����
�����9������
���
�
�������

�� ��
�
�� 
�� 	���	#
���� * +�� ��/��� �������@��� ���� ��
�
�� 
�� �A��
�� ����

���	���	�������
��2������

���	��

=� �5������
��� ����	��� ������������
��� 
����� ��
�
�� �� ��
�
�� 
�� 	���	#
�����

3���� ����	����� ��	����� ����	� ��� ������	�� ��	�� 
�� ����	���� 
��� ��(��?��� !�@=� 
�� ������

���	���� �����	����
�� ���9�����=�� ������	���6C1)� *6�(�	��IN+�
��/��
��� ��	������
�� ���9����

*!�=H+���	���
�����	#���������	�
�������
������	���������	
��
��DWPN���
@D��RDW���@D���LNW�

��@D��5�����		����

���������
���
�����	����� aDH�LW�LGb��



�

� � � � �RP

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



�

� � � � �RU

� =���	����8���	�� �� ��� �5������
���5�����
������	���� 
�� ����	�9����
�� �����	���=�

��	����
������	�9��������	���	�����
����
����	����
�(	�����

����
���
�
�������	��	��
���B�


��������� *��		��

�� �� ������ ��� ���� ��	��� 	�(���+� ��� 
�	�
��� �� 
��������� *��	� ����

�-���	�����A
���+���

�

� 3���� �5������
��� ������� ���� ��
���	�� *�(����+� 5��� �� ������
��
�� ��
����
���

��	����� 
�� ����	�9���� ��
�	���

�� �� ��	��� 
�� �
��	����� *5��� ��	��� ��
��	��� �� ��	������ 
��

����	�� 
�� ����	�9���+�� ������ ��
��� �� ��	���� 
�� ����	�9���� 5��� ���-� ��

�� �
�����
�� ��

	�(���	�
��*6�(�	���D+��



� � �UW

� '��� ��� 	������
��� 
�� �������	�� ����
��� �� �� ������ 
�� 
��������� ��� �	������
����

��
����� 
���	��
�	� �� ����� 
�� 
��������� ��� �	������
���
��� �������������������
��	���

����

��������	�
���������	������������
����		�����
�����������
�����
���	��
�	��������
��

��		�����
���������

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



�

� � � � �UD

� ��� 
���
�?��� (�����	�����
��� ���	���	���5��� ���� �������
��
��� ����	��������
��

���	�����	8
���� ������ 
�	�����
��� ��(�
��� ��� 
������
��� 
�� ��	������� �
��(	�
�����������

��	�� �� ��
�	���� 
�� ���	������� 
�� ��	������� �
��(	�
���� 
������������ ���	�����	8
����� ��


������������ ���	����A
������ �� 
�����-	��� ��	�����	� �� ��
�	� �� (�����	��� 
��� ���	���	���

��
��	�9
��� 
�� ����	�9���� 
�� �����	����� ����
�� B� ����� �
��(	������ ����� ��
�	���� ��	
�@���

������9����
����	��������������
���������������	���/������
�����-	�����	����	�����	�����
�	�

������	���	���5��������	�
���
���
������	�9����
����A��
�����5�����
�����������
�������������

� �� ����������� 
�� ���	���/���� /������ 
��� ��� 	���	�
(�� ���
��� �� �
-����� 
��

��	����	9�������
��� ��	������� �
��(	�
���� ��

�� ��������������
����	���
-�����
����	�9������

�
��
�	�
��������	������������

���	�5��
����
������
�����	���
-���������
�	�������
������

����� �� �� 
�
��
�
�� 
�� 
�������� ��� ��	������� ������

���	���� ��� ���	����	���	��� ��


�
����	���	�����
��	�9
���������������
�������
����

�

� �

=����	���/������	���
���
�������������
����
������
��	(�
���`�����.���������������	��

�� ��.������ �� ��� ��
.�
��� 
�� ��
���� 5��� ��	���
��� ��5��
�� 
���A
���� ������ �� 5��� ��	
����

�������(���	����������
��
��
����.����5���������	��
����������	�� ���������	��
����	�

��
������
��	(�
�������
���
�����������������5���
���
���������(�����	�����������
��
��


�� ���(��� 	���� 5��� ��� ��	���� ����� ��.������� �� ��.������ �� �� �����	� ���� 
��������� 
���

���	���
�
��� 
�� ��� ����

	�� ����� ��
������

�� �� ����
�� 
�� ���	���/���� �� 5��� ������� ��

������
�
��
�������	�����	����������	�
�������	����	��5��������
�������������������	�������

� �� ������
�
�� 
�� ����
��� 
�� ���	���/���� �� 	������
�� 
�� �	�
���� 
�� ����������

��
��	� 
�� ��.������ ����� ���#
���� 
�� �����	�� ���� ����	� ��	-� �����
�� 5��

�� ��� 
���A
�����

�������
����.�������������	���	�����5��
����



�

� � � � �UG

�

�

=�$3>� ��� !3$� * +� �� ��� �5������
��� ��	�-���� 5���

�	���	���
�� �� ����
���� 
�� �
��	���?��� ����(	-������ 
�� �����	��� �����
��� <����� 
�	�
��� ��

���	�������
����	��������
��(	�
�����
������������������	����	������

�����
��	��(�	�����������

����$3>���
���������	�����(��
���aDH�LGb`�

�

1��(��� 
�� ��(���� �������� 
�� �����	�� ���� ����� 	���������� 
��
�� 
���
�?��� �
�	��

NWW
������
���
�?����������
��
���

)������	������
-����������
��	�
�������	���

=���	������
�
����������
��
���	����
����
��	������
�������
����	���
����
�������	���

����	��
�	� ���������?����	�������
������	���	����������
�����������	���������	��������

��.������
����		������
�	���
�
����
��9���������������	����	9�������
��
������������

�

=�$3>���������	#����	�����	�
������`���������
������	�@/������5���(�	�������������

����������	8
����������������
���-�����
����

�����A��	���

��������������	��������	���
��


��������
����
���������������
��(�	�����
����
����aDH�LGb��

�

�

=� �	�
�9���� 
�� ��
���
���
��� 
�� ��� $3>� ������@��� ��

���
�����
��� 
��

5��
���������� 
��� ����	�
�� ����

-	���� �����
��� ��	� ���� �����	�� ����� 	�������� �� ����

���������� ����	8
���� �
��
�
���� '��� ����� ��
�
�� 
�� ����	�
�� ����

-	����� ��	����� ����


���
�����5�����������
����	����(���������(	�����
�������	���

3�������������
������	�
���������
��
����
����
������	�
�����������
������	�
�����

�	�(�
�� ����������
��(�	����
���
�� ��
(��#
��� �5����
����	�������		�
�������	������ ����

�����	�
��� 
�� �-��
�� ��	����� 
�� ���� (	�
�� �� ��� A
�
�� ���		�
��� �����	��	��
��� ���



� � �UL

�������� 
�� ��
���� 	�
��� �� 
�A���	�� 
�� ������ 
�� ����	�
�� �� ��	�����
���
��� DW
��� 3����

	�
����� �� 	������
�� ���

��
���� �������� ��
������(
������� �����	���� ��
������������
��

	�
���	� �� 
�A���	�� 
�� ������ 
�� ����	�
�� 
�� ��� ����	� 
�� HW� �� DWW� ������� 4��� ��		�
���

�.���-���� �� ������
�� �� ��������
�� 
�� 
�������� ��	������	� �� ������
�� ����	�
�� ��	�����
��

�����	��� �� 	����� 
����� ��		�
��� 
�� ����
�� 
�� 
�������� 
�� ����� 
�� 	����� ���/
������


���	��
��������������
�����	���/�����

f��

���������	�
���	��-	��������
�����������	������
��	�����
�������������-������


������	����� ��������5������		������������
������	�
������

-	�����=�
<��	��
������	�
��

����

-	���� �����
��� ��	��� 
�� ���	
�� ������(�����	��� �� ���	��� �	��	��
�
��� 
�� �����	���

4�� 
������	� ������� ��� ����	�
�� ����

-	����� �	�
���

�� �� ���(��� 
�� ����(	����� 
��

����	�9����
�������	���=������	�
��	��	��������
���������/��
�������
�������������	����	�����


�������
��������
������	�
����
������������	����
�����	���	�
���	����(�
���

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



�

� � � � �UN

��������	��������/�����
����������*=3!@� +������
���

�	�
������� �5������
���� �������
��� ��	�� ��	����	������� 
�� �������� ����	�
����
��� 
���

��

��� ����	���-������� ����� 
��(
/������ �� 
��� �
�	������� ����� ��� 
��� ��	��	��� �� ������� ���

����
���'�����5������
���� ��
�����-	������������	8���	��� ��	��
����	��	��� 	�
���������


���	�
��������	���
����
���

���������������
������	�
�������7������	�������������������

��� ������	8���	�� 
�� ����
@O��
� !����� 
�� ����� '��	
�&@C�	
�	� ��	�� ����	� ��� ������	��

�
�	��HWW���UWW�
���7������5������
������������������
����	�������

��
���
�	�
���4���

	�
��
��
��	�����
��DRWW�	�
��	��2���
����	�����	�
�������5������
����
������
����	�����

��������������
�	���

� ��� �����?��� 5��� ��
����� 
������	� ���� �� ������	8���	�� ���� �����
��� �����


������
��� 	�
������� 
�� ����	�
�� 5��� �������� ��� 
9����� ������
��� 
�� -������� 9�
�� ���

���������� 
�� �������� 3���� �	������� 
�� 
������
��� (�	����
��� 
��� 
���

�� 
���

��	����	9�������
����������������������
���
���	�������
�
��*
�
����������A
����5�A
����+��


�� ��� ����	�
� ��� ��� ����
�� ������
�� 
����	� ��	�� ��� 
9���� �
��	��	�� ��	� ���	�� ��
��� ��

�	������� 
�� ���������� �� 
���

�
��� 
��� ��	����	9������� 
�� �������� ����� 
�
��
�
�� ��

�����	���	��
������	�
��������
������������������

� f��
��� ����	� �� ����� 
�� 
������������ 
�� ��� ����
�� ������
��� ����	� ��	-� ��

�
��
��
�
��
���������������	�(�
-	���
���������
��������������
���5��
�������	��������


�����������������	���	-�������������
�����
9����������
����������������	���	-����
��
��
�
��


����
���
������������

�



� � �UX

�

�������
�
��
���
��
��
�
�����������
����������������(�
����	A���	���
���������

��
�����	��������
�������
����
��	���������������������	�

����	�����
����
��
��
�
���
��


���������?���
����
�����

��������	��������?���5�����
������������	������	���	#
������	�������	������������

��
���� 
�� �������� 
���	�� ���� ���� 5��� ����� �� ���(-�� 
��	�� ��� ��	��
���� �� ���� 
�
��
�
��

�	�������
��� 
�����
�� ���� ��� ��

��?��� 
�� ������� *����� �� ���(-�� 5��� 
��� 	��(�� ����

���	��+��7���
��
������������	�����	��
���	�
�����	��������
��������������
����
����
���	�

������������
�������
���������
����

�����������������������������		������	��	�
����������
������	�
���������-��������

����������������

���������	�
�
����������
����

���
������	�����	��
�������������
�	(����

3���� �	������� �� ��
����
�� ����� ���������� 
�	����� 4��� ��
��� �����
�� 
�� ��� ����
�� ��	�

����������
�	������	-����
��
��
�
�� �
�
����	�aLLb`�

�

+* �

�

�

�� �����
�
��
�
��
��-����������������� ���
�
��
�
��
������	�
��
���������� * +���

��������
���
�� ���������� *
���

�
���
�� �����	���	��
�������	�
�+��� � ���	�������
�
��
��

�	�
������*�

���

�
���
����������5�����
����	��
��
�	�
�����
���	�
����	���	#
����+��

� !�� ��
�	���� �� 	����� 
�� 
���� �����?��� 
�� ������ �����
��� *��	� ��������� �	+��

��

��� 
�� 
���	�
����
9����� ������
���� �� ��������
���
�� ����������
��� ��	-� �(���� *
���
����


���	�
����
�	(���
�����������+������������	�
�� ���	-�������������������	�����
������
����

��
������	-�
�
����	`�

�

+*

+*

H

D

H

D

H

D �

�

� '�����������	��
�� * +���
�����	��
��
�	�
������	���	#
�����������	�������	�����


�����	�	���������	�
�������	���	������	8
�����4����������������
�
��
��	�����
�����
����

LHN�U�
����PNW�L�
��
���	���	��
���	��
�����
�������	���	���3�������
���������������
����



�

� � � � �UP

����� 
���

��� �	�����
��� 
�� ���	��� �	�������� aHH�LXb�� ����� �� ���������� �� ��	��	� 
��

����
����������-�����������

����
��������������	� �*���������������	���-������

�������������5�����
���
��������	�������	�
+�������
������
���	(8
���
������		������������

��	�
�������������������	��.-�5��������(-��.-�����
��
�	��
����	�����8������

� ��
����� ��

�� �����	�	� �� �
��
��
�
�� 
�� �����?��� 
�� 
���	�
���� -������ ���

����������
����������!���������
���������
���
����
��������������	�����	�����
���
�����

������ �
�	(���� �� ��������
��� 
�� ���������� * +� 
���� ��	� ��	�����
���
��� �(���� ��	��

�����������?�������������	�����
�����������?�����	-�
�
����	`�

�

�� �
HW

DW

H

D

H

D �

�� ��	��	� 
����� 	������ ��
����� �������	� ��	�� 
���	�
���� ��

��?��� 
�� �	������� 
��


��������������
�
���
��
�
��
�
��
�����-��������������������	�������B���
���
���	����

PNW�L�
���

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



�

� � � � �UU

�

�

�� ���	������� 
�� 
������������ 	�5��	� ���	���	��� ���	�� �� ������	����	������ =��

��
	?���5���
���
������	���	�������
���������	��
�����	��	������������(	-��������

�

�

� 6������� �� ���������� 
�� ����		������� ���	�� �A��
�� 
�� ���9���� ��	�� �����	��	��
����

��/������(	���
����	�����
�������	����	�����������	�	������
����		��������������
����		�����

����-	����
���A��
��
�����9����5�������	�������������

� =������		����������	���
����
���	�����������
�
������	����
�������
���	�����������	�

	������
�� ����������� �� ����		������� ����� �
�5��
��� =� �5������
��� �������
�� ��	�� ��

����������
������		������������� ��3�����5������
���������������	��@�A��
�����

����

�A��
�� �� ����
��� �� �� ����		������� �� ������
�� ���	�� ����� �� ��(��	� �� � �� ����
�
���

	������
�

�� �� �A��
�� ��	�� �� ���������
��� 
�� ����		������� *���������
��� �����
���

�
���	��+���
��	���6�(�	��[D���

7����� �	������� 
�� ���������� 
�� ����		�������� 5��� 
���� ��	� �������
�� ��� �����
���

��
�	���
�� *���
�
�� �
�	�� LW� �� NWj+�� ������ ����� ��	A���	��� 
�� ���������� �� �.����� 
��

������
�
����
��������
��	��������
���

�

��
���������
�
��
������		���������
���������	��


���.�
����	
���
����������	���
����

� �
����
������������
������		�����������A��
���
�������	��	���
�����	������
�����	��

5�����.��	���	�
����
�������
�
��
������	�9����
���A��
���3�������
�
��
������������
�	#
����


�� ����		������� ���	�� �� �����	����� 	����� ����� 5���� �� ���������� 
���� ��	� 	������
�� ���

�����
��� ��
�	���
��� ��� �A��
��� 	���	�
��� 
�� ������� ���� 	���	��
��� 
�� �����
���� ��	�� �/�


���������	�������
���
�����

�	�

�

�



� � �DWW

�

� ��/��������������
������		������������A��
���
�����
��������	���
�����	������
����

3���� �	���
���
��� �� 	������
�� ��	�� ������	� �� ��	�� 
�� ����		�������� ��� ��.��� 	���	�	� ��
�� ��

���
�
������	���
��������
����
�������������	�����5������
�	#
������5�����������������

��
����#
�����
�5��
����	������	����������(��
�����3�������������������5���
���������	�

������ ���
����� ����� ��� ����
�	���� �� ������ ��� �� �����	���	�� 
����� �	�����
��� ��	������

��
�����
����	�������		��������
	�.���
��
��������	���5����������������	-�������	�����������

���� 	���	�
�� ���� �����
�� *5��� �� �� �����
��� �-����+�� ��������� ���	��� �	���
���
���� 
��

��		������!������	�������������	���	����
�	�
���	�����
�����
����������	��	��������
��

�
���������	��������
��	����������3�����	���
���
�������
����
������� ����

��C�
������� ������ ���� 	������
���������� ���������������� �

�� ������ �������	���������

���
�
���������	���	����
�	���
����

�

�

�

�



�

� � � � �DWD

�

� ��/�� �� ���������� �� ��	�� 
�� ����		������� �� �	/����� ������ �� �� ����(	�������� ��

��������(	����� ������@��� 
�� �	�
���	#
���� 
�� ��
	?��� (	���
��� ��� ���� �-���	�� ��	�� ���

���������	����������	�����3�����	���������	������
���������

���������������
����
�������

�������
��
�	���3�����5������
���������@�����������A���
��
����	�<	���� 	��	�(�	�
����	�

��� �������� 
�� 
��	�(#
���� 5��� ������ ���� 	�
������ �
�	�� GHN� �� LNW� 
�� �� ��	
���� ����

�
�	(����
�	��HW���LW���2��H�aDHb���

� ���-���	����

����������
��
���������	���	���������
��
���5������
����3�����-���	��

�� ������
�� 
�� �������
��
�	�� �� ����
�� ��	� ��� �������� 
�� �-���� 
����
�� 5��� ���� ��	���

(	���
�� �
�	�� ��� ��
����� ���� �� ����		�������� �� ��(��	� 
���@��� �
��	�	� �� �A��
�� ���� ��

����		����������	������	��@�����	������	������	�����������
�����
����
������������������	���

�����	��� �� �����
�� ��	� ���� �����
���� ���� 5��� ������� ���� ��

����� 
�� ��
����� �
�	�� ��

����		�����������-���	���3
�������������
��
�	���������
��������
��������	�������
����������


�� ����� �
���� 
�� �������	� �� �	������� 
�� �������� 
�� ���� �� �	������ �.����	� �� ������ 
��

����������������
��
�����	�����
����
���*��������
��	�
�����+��

� =��	�
�9�����-�����
���	�������
������(	���������
����	�����	��

�
�������6�(�	��

[H��

�

�

� k���	���
������		�������
����	���(�
��������-���	���������������	�
������
���A���
��


����	�<	���� ����

���������	��� ��
��������
��������������

��5�������� ��.�� 	���	�
��������



� � �DWH

�	�������
��	��������������	�������	��
���-���	���������	�������
������		��������5�������
��

5����� ���� ��
������������������3������	���
�����
��������
��
����� 	���	�
��
�� 	�����������

������������	��
���������	���	�����

�

� �

� �
���� 
�� ��		����� 
�� ������� ���� ���	���� ��� ����� 
�� ����		�������� 7�� �	������� 
��

	��������� 
�� ����		������� �� �������
�� ���� �������� 	�����
�	��� 3���� �������� �� �	���	�
��

�������

�� ���������	�� 
�� ��� 	�����
�	� �� -(��� 
���
���
��� ������
��� ��� ��� 	������
���

��	��	��
�� *��� 	������
��� ��-�����+�� �

�� ��� �A��
��� ��	��� �

���
�����
��� 	�����
����

����
�� B� ����	����� 
�� ��������� 
����� ��	��	������
��� ������� �A��
����
���

���
����� ��

����������	���������9
���

� ��� �A��
��� ���� �
��	�
��� ������ 	������
��� ��
��

�� �� �������� 	�����
�	��� �� 
���

��	�����	9�
��
����������������	�������	���	�
�����������
���������	��	������
�����
��

��

���
��� -(��� 
���
���
��� ��	�� 	���	�	� ����������
��� �� �������� 	�����
�	�� 
��� �����	����

��/�� ����� ������ �� 	���	�
�� �� ���
�
�� 
��� �A��
��� ���� (-�� 
��	�(#
��� �� ����
��� ���

���	���/���� /������ ��	�� ��	�����	� �� 	������
�� 
�� 	���������� '���� ��� �A��
��� ������	���

����������
���	�����
���������
����
��
�����	�����	/������	���������������
�	-	��������


�����
���������
���
����������	�����
�	����	�����������	�����	9�
��
���������
������
��

-(��� 
���
���
��� 	���	�
�� ��
�� �� ���
�
�� �� ��	�����
�� � �� 	��������� 
�����
��� 
��

���	���/����/���������6�(�	��[G������	�����	�������
��	����������

� �



�

� � � � �DWG

�


